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1.  Which of the following statements is/are true ?
A. Smt. Sudha Murty was nominated to the Rajya Sabha by the President of India in March 2024

B. Smt. Sudha Murty is a writer in Kannada language,
C. Smt. M. Bhargavan Snehalatha was appbinted as a Supreme Court Judge by the President of
India in April 2024, o™

- Choose the correct answer : 3

(1) Conly

(3) A and C only

808 550" DB/ &y, ?
A B8 05 S8R &0 2024 &' B O‘iel}a)@ 023§ K0 TNTE T

B. 308 Irgr e $)68 ames‘ sS3on@. &)
C. 78S DRI DS 2024 S TS A, 2SS D) SFer8SH D0 T 750508 AOHDHOTT -

OB DIFET) DODE TASW :
(1)-C S8 @) A B B S5

(3) A SHBO% C ST 4 A, B8 C
Match the following Chief Executive Officers (CEOs) with their companies, as of November 2024 :

Yod

oy (2) AandB only
4 (4) A,BandC
3

2.
CEO Company
A. Sundar Pichai I. Adobe g
B. Satya Nadella II. IBM )
C. Shantanu Narayen III. Google =,
D. Arvind Krishna IV. Microsoft L
Choose the correct answer : W
(1) A-III; B-IV; C-I; D-II O (2) A-III; B-IV; C-II; D-I
(3) A-IV; B-III; C-I; D-II (4) A-IIL; B-I; C-IV; D-II
S3025 2024 T°¢38, 808 S0P SEINT$TE AT (CEOs) 78 HOPOS 2365 HS0 ok :
5D 558 @9B5°6 ‘ Doy
A, 0B dTE)AD I o885
B. dé&s 0%y II. 2.28. de.
C. 30D T oDEY II. 5rtheS
D. @8J0& Syu IV. DETP
OB AP DOTHE W : Ej
(p A-IIL B-IV; C-I; D-II =0 (2) A-III; B-IV; C-II; D-I
(3) A-1V; B-III; C-I; D-II "”:1‘ (4) A-III; B-I; CIV; D-II
3.  The Nobel Prize in Physiology for the year 2@4 was awarded to two scientists for :

(1) discoveries concerning genomes of extingtthominins and human evolution
(2) discovery of microRNA and its role in pd’d? transcriptional gene regulation

(8) discovery of Hepatitis C virus b

(4) discoveries of receptors for temperature(@d touch
2024 505¢5)0°8 e 858 F RO (physlology)eS6 AP FISSOH B TEH FBS IR

TS ?
(1) 0S$80DNFNS FWAY (hominins) HOAN ST JOETN0 TWBWEY BEIOF DODOBODS

[T PTeI AN
@) DS 8BIS D88 O &Y - (ErSYERSS 8 Do’ ) (e

(3) IRV C DD 82388908
(4) &P OO D)) 0 (Mrsre edN 8O
E:&El

(2)
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Consider the following statements in relation to India’s performance at Paris Paralympic Games

2024 :
A. India won a total of 29 medals, including 7 gold, 9 silver and 13 bronze.

B. India secured 14 place among participating nations.

Which of the above statements is/are correct ?

(1) Bonly (2) Aonly

(3) Neither A nor B (4) Both Aand B

2024 & VS BEroNDAS FEODE Eseres oSt (DBBINN SOBOLOD 1806 &imsersy

b Yolpf: o In VNV -
A rSSTHO T I5E DSTen, 9 Sad Hessen. 3’)!)50'5.1) 13 0D HSTOS IS0 29 HSTOL B0

B. W) BFod ard$Eio 14 & o), @*@oi)o&

2 F5DOS DO/ SOPSE/D ? oft
() B M@ Asned
(3) A HBan B DOy 57 IL @ ASH8OM BTOG

5.  The newly elected President of Sri Lanka (ggptember,
which political party ?
(1) Samagi Jana Bolovegaya

(8) Sri Lanka Podujana Peramuna
SPSIOT IDIES P08 e (FPod 2024) NS é\)&i?é BJ)TONT & Tzloh O

9024) Anura Kumara Dissanayake belongs to

(2) United National Party
(4) Janatha Vimukthi Peramuna

[OAIITE ?

=
(1) SR 2368 S'OIH0H @) OHSHE IS I8
(3 D08 SES DEINS ;*:ff @ 355 DI DO

6. Which of the following statements are true %elaﬁon to Oscar Awards 2024 ?
A. Cillian Murphy won the Best Supportmé«ﬁ&ctor award for the movie ‘Oppenheimer’.

B. Emma Stone won the Best Actress awar?] or the movie ‘Poor Things’.

C. Christopher Nolan won the Best Actor award.
D. ‘The Last Repair Shop’ won the Best Documentary Short Film award.

Choose the correct answer :
ﬂ (2) A and C only

(1) A, C and D only

(3) B, C and D only fm (4) BandD only
)5 B TeN 2024 8O HooHoN (8od gﬁfgspgoé‘ oI ey,

A EDSITOE DASTE e DOADS 308 e DI AD é&»& o‘))éa)‘*z,o‘&); FentHBOT) .
B. Qa5 &S 2y &Ry @ DAL esé%ées OTED BHZH0A.

C. (BFHE S8 & Send YSFL0R) ﬁé)%zms%av;cfg

D. & erD 56 arD eSS @0’ ©a S HEIYTR) Fenhdrod.

DB DTG, ODE TIARV :
1) A, C 8050 D S|
(3)7B, C 8050 D S5{ehad

[7] (3)

2 ASBAD C SreH
(4) B 80w D S

i
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Which of the following statements is/27® ISRO) ission Di
& Vo s e Organization ( successfully launched the mission Divyastra ip

March 2024, - - .
B. The latest variant of Agni-5 missile i8 equiPPed with MIRV (Multiple Independently Targetable

Re-entry Vehicle) technology- . ..
C. India is the first country to have MIRV-equipped missile,

D. Agni-5 is a cruise missile.
Choose the correct answer :

(1) Bonly (2)’::!\ and B only
(3) A,B,CandD (4) ;C only

i“ﬁ}
R IS RNVARTE ¥

vV b o v
A 38 2024 ¢ 2r8e 0S50, HOTRR® DOY (ISRé)}Zlm(S QSR DBOHS0SOT (HTFAOD0E,

B. & Qreses @f) -5 8365, 2508 H5S0le O8.§ 355(’5}59)&8@)3% a3 (Multiple Independently Targetable
Re-entry Vehicle) r088%e50 $O 508. )
C. IV 550(S5 ©F TS ) (933 TS FOTBEeh EOAS & Hed €5), I T30 2136,

D. e®f)-52,% |$roneS (cruise) § HE5.

QB ST ODE TS :
(1) B Sme5sd (2) [A 0B B S|bh
3@¥ A, B, C 0805w D ‘ (4) 5C Sr(&D
M
Match the following in relation to the 70t: Nationaigilm Awards, 2024 :
Category Awardy:
A. Best feature film I Rishab/Shetty
B. Bestactor II.  Kantata
C. Best director III Aattafiy)
D. Best popular film IV.  Salil Chowdhury
\% Sooraj Barjatya
Choose the correct answer :
(1) A-III; B-V; C-IV; D-II - (2) A-II; B-I; C-IV; D-III
(3) A-IIL; B-I; C-V; D-II (4) __A-IIT; B-IV; C-V; D-II
70 & 2SO VOIS BTN, 2024 5%y X)oaocggb & 1808 ¢3Q B3SIBTSW
56h8 oI T '
A &S S D(ebo L ONEARATA :{é
B. &S S0 II. Sows
C. &S S8 50ch I e&o e
D. &S5 Doy Do IV. %8 S8t
V. >rsEs 336%5
QBN AIFPETTR) DOTVFDHR
(1) A-IIL; B-V; C-1V; D-II @ AIL B CAV: DI
Al Bl G-V D (4) AJIL BIV; C-V; D-II

E%@
(4) : e
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ich of the following statements i
9. Whic ents is/are trye iy, relation to Nari Shakti Vandan Adhiniyam, 2023 ?

. Nar‘l Shak l andan Adhiniya]]l 2()2 rve one bh
t V li ) 3 Seeks t() rese & i 1 i
1& f Par ament and State legiSlative a bli
1 Houses o) ssembplies.

B. It was the 104" Constitutional Ameny, )
Choose the correct answer : nt Act.

(1) Bonly S
(3) Neither A nor B ) ; BO:I;] }1; i
6 %8 500 BRI 2023 &) 020807 L§O&T§'§5mgoé‘ DO/ &y, ?

A TR FOS D0 DO FEZoey, . s
T8 38 5085 AN 2023 mg&iggoc%{?e;og L2rEeB0 1/3 S0 D& 625 SFosrerd

Iof

B. 2O 104 T°R$08 HeS8en W&o. ol
9B DT AOLHER08 : H
(1) BSrSD i
@), A Sr|eD
(3) ADBASD B Bokr 57 (4;/}’ A 5805 B 3o
10. Which of tbe following statements are correct wiﬁ%}regard to ‘Khelo India Youth Games 2023’ which
were held in January 2024 ?

A. They were held in four cities of Tamil Nadu.

B. Conventional sports such as badminton and volleyball were a part of the games.

C. This is the second time that Khelo India Youth Games were held in South India.

D. Traditional sports such as kabaddi and yogasana were part of the Khelo India Youth Games

2023.
Choose the correct answer : :
(1) C and D only ‘ (2) A and B only
(3) A, Band D only - ()} A, B and C only
28856 2024 ¢ 26AS ‘BS® BOBAST TS Hed) fg, elo India Youth Games) 2023’ & 020600 8§08
T30S DD OBID?

A 2D SWETHS'Q e Sforod sémow. LY
B. 252088 HHO05M 7O $0¢3 HoRdToDd (B8 & B & 28 ariom samyom .

C. BS Q0B OIS TS 5§69 arde TFoeS 23810 B Bosss .
D. %28 8050 TFmdS H0e3 Do (§csen BS' R0AAT 0 ey 2023 & 2rBOMr &) om.

IBA DTG, DOTHTRVW :
(1) C 8050 D Sr(3d | @) A SO B (e

@) A, B 08050 D S35 (4) A, B HBX» C X(epD
Who among the following was appointed as the new Comptroller and Auditor General of India in

1
November 2024 ? '
(1) K. Sanjay Murthy ( )J Sl.m}shl Kant Sharma
(3) C.G. Somaiah ' (4). Girish Chandra Murmu
1808 78S’ SS008D 2024 S® SreddorT K)oﬁ)é’)ooé@?éé 278 50| P8 e3BES BIES DS ?
(1) 3. DoBd g . @{f %3?5‘05 38
(3) 8.8 Focg o (‘f;? AB% Solgs Sy
2 Where did the 15th Ministerial Conforence of fhie World Trade Organization (WTO) take place
duri —March 2024 ? &
(ll;nlf;;;1 ;1;1'11}11?1'}’ e (2) Geneva g%;} Abu Dhabi (4) Belarus
DBIB-376 2024 & (530S ehess DOV (WTO) SIS} 135 500(¢hre> From HeirasFo 8¢ 000D 7
(1 s & @ B @) owed @) Berdd
: EEE
(5) &
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d to IITs ?
e true with regar £1IT Delhi in Abu Dhab; iy, 2023 1

13.

14.

15.

ar
i{, establish the first campus 0

ts
Which of the following stateme?
MOU Zanzibar in 2023.
e campus in Zanzi

A. India and UAE signed an i
B. IIT Madras opened its offshore

Choose the correct answer : I : (2) Aonly
(1) B only "1 (4) Both A and B
(3) Neither A nor B & ;Q@/o);) 8.y, ? DS Soyen S

DS X<
2w0€3 (IIT) ©& Ho21060D 50O 5 O ¥ maes 50NV &2
(IIT) ?,.)S"l@g IIT), ég @bn‘if’a‘ 2,500 (Memorandum of Understandm )§

A, R080HS 2IVeArseS B 9338‘&5
2rESTH0 Sook SBE ©8S e
2023 g@oégo;‘;w AHS aacgwses 6D Ve (IT) DT $S T BDAD sog

B. 2023 5 230282y 0

S8D0A. n;;i;‘:é
DS DTEd) DoDE FaHo : @ AseD
(1) B SreD 4) A S» B Bodr

(3) A 805 B Bodsy 5%

tements :
1(; on;?:rgﬁglzgg:zaia announced to exempt Electric Vehicles (EVs) 100% from road tax anq

registration fee.
B. Thg; tax exemption for EVs is appllcable to both Greater Hyderabad Municipal Corporatioy

(GHMC) and non-GHMC areas. ; «
C. The exemption benefits are available forizhree years, until December 31, 2027.

Which of the above statements is/are correct’?

(1) A and B only . (2) Aonly

&i; (4) A and C only

(3) A,Band C ,

&3 1808 5508 a0t ; &)

A, DB TR (EV ©%0) 100% 605"(3’6 DY, BB AAS BroSne DOG DIFFON0Y) BV e
SO0 (H2Deb 50 (H8¢30D0H. (3)

B. EV ©% ) DSS*on0s) ([[ed rdorerdy SN INS $TIBAS (00 (GHMC) 208050 GHMC
S (oK SON08,

C. DI*a005) DTrasaren HrE) 1w @0 G026 31,2027 355 002N’ &oerow.

D 55O DA/ HOTSE/D) ?

(1) A DBASH B Sr(ehsd 2 ASFeDH

(3 A, B 5805w C | 4 ASB0% C Sr|es

Which of the following statements is/are trye m relation to UNESCO’s Creative Cities Network ?
A. Kozhikode in Kerala was included as a cxf.y of literature’ in 2023.

B. Jodhpur in Rajasthan was included as a° Qlty of music’ in 2023.

Choose the correct answer :

o
((;)) ]]_:Oth] Aand B 44 (2) Neither Anor B
only W 4) A only

OB S ST o)oéa?«&m

(1) A 805w B Bodky” _

(3) B Sr(ebad (2) A BAS» B Bochr 5°))
4) ASrSD

(6) gﬁ
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' 16.

17.

18.

August 2024 ?
(1) N.R. Pillai
(3) Rajiv Gauba

Who among the following assumeq t

GETITON
Google Play

he charge as the new Cabinet Secretary of India 3

Dr. T.V. Somanathan

(2)
M.K. Vellodi

(4)

& 8¢S &I Je 2024 °
s . SN RS 3HTE 2B 11 2rchgeden 2 55000& 75 D3%: ?

1) oHS. esb. dgTow
(3) o T

(2)~ o 8. 2. :vg’nxrc,ﬁ:}
|(4)  O%He. 8. seg&

nge the following st
e SR ascending orger based on number of assembly seats in each state as

of March 2024 :

Assam

Telangana
Chhattisgarh
Jharkhand
Uttarakhand

Choose the correct answer :

Mo owspe

41
Yf

oM
R
e

Y
f
ts)

3 C,E,B,D,A (4) A,C,B,D,E

() E,D,C,B,A (2) E,D,A,B,C
Sr0) 2024 T3 (DB O ROSW w0l Hey Boys eerdor l_§o& olareos efrer ($os
€908 ) :
A, ®J)O
B. S®0mre)
C. B8 16
D. Swrdo& g,ﬁ
E. &S0°208 ﬁﬁ
OB DAFETR) DONE OV : A
(1) E,D,C,B,A (2r E,D,AB,C e C,E,B,D, A 40 ACB,DE
Match the Artificial Intelligence (AI) tools wmggzhelr developers :

AI Tool Develoqu
A. Chat GPT - I. Apple
B. Gemini (Bard) II. Amazon
C. Alexa  III. OpenAl

IV. Google

Choose the correct answer :
(1) A-IIT; B-IV; C-II
(3) A-IV; B-III; C-II

(2) A-III; B-II; C-I
i = 4) A-IIT; B-I; C-IV
ﬁogls) 3 EHE8e (developers) & 23 DBTDAW

5B THes &HEGeTOD (Artificial Intelligence

YA ¢S 58800 :gﬁws‘d
A & 23 L ¢ 1)
B. 2 (@) I &S
C. ©8%) M. &SI (OpenAD

IV. mmé
BN DSPETRY, DOTDE W :
() A-IL B C-I

@ AL B-IV; C-II
3) A-IV; B-IIIL; C-II

[F]

(4) A-III B-I; C-IV

EIE
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19.

20.

Which of the following stateme

rt
and Hydrographers Conference unde

. tional Institute of Oceanography. in Vlsakhagsézam-
A. It was held in the N 5;1 2 1d at Chennai and H):derabad in J anuarg . e,-
T Coni.'ef'ence i ed on the theme of .Qur Oce.an is Our Futur é
]()J. ]T)hf pa:tlcgantlsw (;sc,lcil\lrzz and Australia participated in this Conference.
. Delegates from

i ition of the Oceanogy,
in relation to the second edl' he;
s B }tlzu:mbrella of the Colombo Security Conclave (CSC) 9 8

L]
Choose the correct answer : )
(1) B and C only ‘;‘1
(2) A and D only ,
(3) B, C and D only oy
1 =+
i 55% B0%S IS T RIS HOAW B8O @50y

So0s" DErBS SIS (CSC) @850 3255 + M
TS HrSTAE H02005H0D (80O TSVSO \ 8y, ?
DT HOBOS'D D3| ©CADS 2B SIS’ & J3rFFo 236A08.

A.

B. 23362024 & ) 60k TETerES” 8 S8-S0 28A08.

C. ‘S0 HIN(K0 DS BINS ©F ABSYIL0D & DIrBFoS® JTS), 380 30 )JoT .
D. 2rdhen $H6a5 DO $H08 (HDBIWED & JSFIIoS® Sy &.

DB DSFER), JODE TS :

(1) B S805m C &S5 ]

(2) A 0805 D Sr{eszh =@

(3) B, C 80w D Sr(ebad TS

@ A, C 80w D Sr(ehsd r;ij

Which of the following statements are true in
(NATO) ? op

A. As of March 2024, NATO has 32 member co@ries.
B. Sweden joined NATO in 2024,

C. NATO headquarters is located at Paris.
D. Switzerland is a NATO member.
Choose the correct answer :

(1) A, B and C only

(2) A and B only

(3) C and D only

(4) A,B,Cand D ,
&SS ©&rodSs 2,.5)0¢ H0P (NATO) & c‘\’)oaao@oéb‘?@o& T5POS A .0y, ?
S0 2024 eS8 r6 4POWE 2,506 15036 32 5055 Brrew STy om.
2024 " D35S S ebr0e38 25306 H0pS"HB06.

&8 ©roes 25306 903 (S SO SO0HErED & Gob,

D. &8 e0troes 2,506 Hope® R5QBersof 28 0255 Eo.

OB DSTETRR), 0DE Tk sy W

(1) A, B 50 C S ®)

(2) A DB B S5

(3) C DOAD D Sm(es Sy

(4 A, B, C08a%» D

L]

Qwp

(8)

relation to North Atlantic Treaty Organization
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Arrange the following political parties in ascending order based on percentage of votes secured by

21.
;}Sf:; Izil’l;:seiuzto;g t:otal votes polled in the generalielections to Telangana State Assembly held on
ol e B. (Bﬁaratiya Janata Party
0 BRArsy s J e s D. (dmmunist Party of India
Choose the correct answer : (;}
l (4) A,C,B,D

(1) D,B,C,A (2) D,AC,B (3) O}B,D,A
30 S50 2023 & BOOTE TR TS HKo BOAS s IR EOS Dndo FBS £.4E FHODY
2,6 S0 @O0 (S0O Ta38a%H Fferesy s @&6&’5‘ €95080,)ed

A. wg:;f wé%o‘f) 9;Lﬁ§ B, 5680% ade >0

G EFEREQS) D. &5 7 e R0HAST

OB AAPETTR), DODE TS0 :

(1-D,B,C, A (2) D,A,C,B (3) C,B,D,A (4&) A,C,B,D

22. In which of the following cities was SEMICON India 2024 held for shaping the Semiconductor

Future ? .
(1) Bengaluru (2) Hyderabad (3) Greater Noida (4) Ahmedabad
DFOCED BDNHND SFFOBOBETIL DTS 20S 9024, 806 & SHB0S’ DB 20RO ?
(1) BoHerd @ TETEE @ ({66 Sowe @ eFerd

ol

Which of the following states ranked first for the secm'fﬁl consecutive year in the State Food Security
Index 2024, of the Food Safety Standards Authority offindia (FSSAI) ?
(1) Gujarat (2) Karnataka (3) Kerala (4) Tamil Nadu

808 TS’ 2rGes S HST (HDSFEFS (FOSES DG (FSSAID Ty e S5|e Hrds 2024 D560
SEM™ BOLSTO FHE3 P30 FEOAS TR0 A ? ()

(1) Hhaos @ ST @ B @) SFT

Consider the following statements in relation to ‘Operation Dronagiri’ :

A. Tt is a pilot project under the National Geospatial Policy 2022.
It is a new project under the Ministry of Youth Affairs and Sports, Government of India.

23.

24.

b
S
A

B
C. It was launched in November, 2024.
D. In the first phase, it will be implemented in Utﬁaazz Pradesh, Haryana, Assam, Andhra Pradesh

B3

ey
Sl

(2 A,CandD only
(4) BYC and D only

and Maharashtra. _
Which of the above statements are correct ?

(1) A and C only
(3) B and D only , ,
‘@HBAS (BN’ £ 0020600 80O TSSO DBNESQRVSM :

I,
B 2SS 2THOE Drcdo, 2022 (National Geospatial Folicy) S 28 DO 3.

A,
B a6 or6e (5 cndesd S55Tey, (860 HoB8s TRSD SrES P,
C. 2O 350208, 2024 & (FE0DOSVBOB.
D. 26 IndE SIS S (HTT, SO, ©0, BOIE HBT HBAW HFTTOS BHen Wb,
D DS DD DB ?
(1) A B C Sr(ebsd @ A C0050 D @D
(3) B 8050 D (&b . (4) B, C 005 D Sr(ehad
EEE
a

E (9)
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of beginning of their

ear
. rding to the ¥
25.  Chronologicall o the following palaces acco

. onologically arrang

construction :

A. Malwala Palace
C.  Falaknuma Palace
E. Paigah Palace

B. Hill Fort Palace
D. Asmangarh Palace

Choose the correct answer :

(1) B,C,D,A,E 5 (4 CABED
- ] o @8 )0 :
b 8 Dm0 (2508 TSI ©HH60D SIS
808 ooz a;S;ﬁwoF&SJ B € o o B %S R B _
A Derso >80 _ *gg D. ©NS N6 FBV
C. D8 ke 589 i
E. 2r >SS oF
P08 Aoy dods Bakwaw: @ AC,D,EB
® Dol Es (4 C,ABED

26. Consider the following statements : . St
i in Diwan-i- to Abul Hasan Tana
i painting found in Diwan-i-Hafiz bfelongs : .
g' ‘%hf: Eﬁfﬁ:ﬁ;ﬁﬁ?;:gges of miniature paintings illustrating the portraits of Mu_hammad Shah,
Which of the above statements is/are correct ?

2) Aonly

(1) Bonly ‘ (

(3) Neither A nor B w (4) Both A and B
& 808 52500 HBKBOHID - L

A O IS T X § TobS SIS-HArH KBS0 S AEre ©YEFHHONS D0 Sor,
B. & fl0de00 15 Sefen OTR0E HITDH% H0220H0DS O BN FOLIBIDAT W,

B TS DA HBSEB/D 2 o

(1) B Sred @ ASRSD

(3) A S8a%n B Bodkr 5 Y @ A6 B Boky

27. Match the following temples with the places where they are located :
Temple & Place

A. Nagaresvara Temple L Nandikandi

B. Erakesvara Temple . I Vemulavada

C. Rameshvara Temple III.  Gangapuram

D. Chennakesava Swami Temple IV. Pillalamarri

Choose the correct answer :

(1) A-IL; B-IV; C.I; D111 2) AT B-IL; ., pv
(3) A-IV; B-III C-II; DI - (4) AL B-I; C-Iv; DI
(808 Barerosres e &) [Fomers éé';sé)zmm : '

Treavo 5;’4 (oeso

A. 655'3'56 85"0&5)0 L r% 508508

B. J83%58 Bareraho ™

C. 0¥ Breocho Hffi ?:r:;);é

D. BRBES 5D Bareraso VT 26 S0

OB OSETEPS0 DTNy ;| ey

1) AL B-IV; C-I; D-III A
((3)) i-rv; BIE G D1 @ AL BIL i py

@ AL B v, p

E4EE
(10) 5&
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28. Which community was engaged in making slivers of cotton ready for spinning ?

(1) Devangula (2) Netakani
(3) Doodekula (4) Kunche Erukula
& 18060 B D $P0 S TrB0 SBEFE (HAD D¥vexnmr T VO B ?
(1) Brothe 2) Vs
3) SrI%oe 4) 50T AEEO
29. Which of the following texts provides the earliest reference to veedhi natakas ?
(1) Nrittf.slratnavali ‘ ; (2) Basava Purana
(3) Panditaradhya Charitra . (4) Ranganatha Ramayanam
&2 1808 [(0BSNOS’ DA HB Trerse HBOD s*@ LTSS TN0DOR ?
(1) SYbs8E) 59 o (@) NS N0
(3) HORBTT RS IO H 4)  Solere TrodE0

R

80. Consider the following statements : &,
A. Perini is one of the dance forms class1ﬁe@ Jwnder marga nritta/nritya.
B. It was performed during religious rituals.”
C. It was developed by the lenkas and nayakas possessing martial skills.
D. Vira Saiva followers spread this dance form at Palampet, Hanumakonda and Warangal.
Which of the above statements are correct ?
(1) A, B and C only
(3) A, B and D only
&3 (808 (DSTASOD HBHEI0HAW :
A OB SYd50 S8 S8R’ 2,8 2Biism.
B. & 5955508 NSNS estroreeS (D goa‘a"éo

C. 8598508 ANEPTIeas0 e Bogen NGO T AHHED ©DIYR TAODB.
D. & S50 DS 3 @©NIEEN OO DEY J KrO580cs B0 38015 S F$DOITI .

238 DIBODS (HBFEIOS D HBIY? &

(1) A, BSOS C &Sr(had (@ BB D Srledad
(3) A, BBOM D Sr|evsd 4> B, C 8050 D Srihsd

31. Which of the following statements is/are true ?
A. The Deccani culture created by Qutub Shahis was an amalgamation of cultures of native Deccan,

North Indian, Turkistan, Arabic and Persia.
B. The Qutub Shahi court consisted of fore;glgl immigrants known as Habshis.
Choose the correct answer :
(1) Bonly (2) A only
(3) Neither A nor B o4 (4) BothAandB
808 550>’ DO / DD HOPI ? *L
A S5 xEren SgRodS BEEA D008, @ﬂoé OEOE 2rew, GBS arESTw, S8 TS, ©THAST
S3B050 HOOST D09 O FAWS. )
B. dB7e H0d SO LSS rare> 870 & VOB FO TN ©Fd.

4 (2) BandD only
. (4) B, Cand D only

v’\tﬂi}} e
§ Cnrs FHEE A

pilhcd ﬂ g’

B HIFTTR), HONE AW :
(1) B (&> @) AN
(3) A 580K B BOGT 5% (4) A B80%w B Bodkr

[EIEELE
P 3l 5
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32.

33.

34.

composite work written by five authors. Identify them.
Bhaskara Ramayanam Was a o Rudradeva, Bhaskara, Hulakki Bhaskara and Ayyalarya
(1) Mallikarjuna Bhatta, i{/;;f;ya, Bhaskara, Hulakki Bhaskara and Ayyalarya
(2) Mallikarjuna Bhattf; C st Maraya, Manchana and Ketana
(3) Hulakki Bhaskarar ;11 Jcara, Marays Ranganatha and Buddharaju
(4) Bhaskara, Hulakki Bé; o0 &0 MG BSonederdd 53°aH0R00. B8R oo,
27038 TWSTODEO, ;i%éa@a < 270, 3\1@% 23,8 B8 e90DgETSS
(1 HODPHS B, oy, 2705, S8y 27058 B ealserds
(2) HYSPHS B, ' 5 SHBAD Febes

808, S0 )
(3) Sve8y 28, 20¢ore, z
4 em()z,é?xmoég, 23,8, S0, SO 33)60?%3;2&)@0‘23’

i d the most favoured
i . ies of Telangana aims at making Hyderaba
Which of the following pOllCle.S of ] LLx : 8 dtor?
destination for investment in animation, visual eﬂ'gggs, gaming an
(1) Electronics Policy, 2016 Wl
(2) Telangana’s Artificial Intelligence Framework, 21&?20
(3) Innovation Policy, 2016 ~

(4) IMAGE Policy, 2016 3
(808 e3¢5 AIFDAS, 99T 55T (DT
©3EFe BSTSOm EFFoBoSTIE &

(1) QOIFIEY S0, 2016
@ Seomre Sgd D (H050; , 2020
(3) e8NB AGFS0, 2016 ‘ "}

(4) ¥ (IMAGE) D50, 2016 A
hie actions proposed in the Grassroots Innovation

e»,ﬁ:)ooﬁ $5B0%» SWE ) SorresS arSTeerd SHoR), @08
2300 OO VN0 O ?

Match the following stages of value chains with t
Framework of Telangana 2020—2025 : (4
&3

Stages Action
A. First I.  Helping the identified innovatétis to develop their prototype further for the
proof of concept

B. Second II. Reaching out to the rural citizehry
C. Third ITI. Scale-up Fund to help grow graggroot innovations into micro and small vscale

industries
To scout for existing Grassroot Innovators and facilitate the creation of new

Grassroot Innovators
Choose the correct answer :

e g

D. Fourth 1IV.

(1) A-II; B-IV; C-I; D-III (2) _A-IIT; B-IV; C-I; D-II
3) A-IL B-ng SS-IV; D-I (4) _A-IV; B-I, C-IT; D-III
S0r (PR d 868 (DD S5y 2020-2025€FD I frend 4
Soome T8 3 :3‘ 05 TN IO (DBIA0DS 508
Siew 3655 Lo
A IOBO L 7SS0 DI T HB0HDES eDE s
5050 St Q ti AR ODHYE TS SSarTrerdd 806

B. Bo&S8  IL (rade e DOESS0 w
C. JrGS6 L (T 67¢5) 8D, 5008 Grd 14 -
) - @é‘?é% Y- WP et Sﬁg@boﬁ» DOLBES* HBFsvenm Erdrotoestd
. oD - BT &) (D ¢S ) e 36308 o
D380 5530 SHoske 82633 > OTIROBH0 B Srehes PRErES)

OB ASPTR), OS85 ;

(1) A-IL; B-IV; C-I; D-III -

(3) A-II; B-IIL; C-IV; D-I AL B-IV; C.I; DO
% AV BL; o1 panp

(12) Ee‘j
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35. éwogzmment of Telangana :

800 78S 50

nspection and Maximum Facilitation’ is the ©

Telangana State Pt?llution Control Policy _ (2)

g; T:langana State Higher Education Poli(:yl 5
3 P, (10x Jresd’ ©F sorr EONS

A 5PenR AODO(EED AGTS0 588 QO $aed NGS0, 2017

GET IT ON
Google Play

bjective of the following policy of th
01 the

E-waste Management Policy, 2017
ndustrial Policy Framework, 2014

4) 1
Besorre (HEHSS IGO0 6 ?

142

Beome T2

(3) BOOTE ol GRS DTS DEO0 oty OFVS D67 (0557, 2014
g6, Match the f(?llowing relating to the universitiéiﬁn Telangana :

University Named After
A, Agriculture university I  P.V.Narasimha Rao
B. Health university II. KondalLaxman
c. Horticulture university III. Kaloji Narayan Rao

IV. Prof. Jayashankar

Choose the correct answer
1) A-L; B-IIL; C-IvV @ A1V B-1I; C-I
(3) A-IV; B-III; C-II 4) AL B-IV; CII
SoomRS 0XAS8 0% 020§D §08 FE 23BN :

awS8)¢ gﬁ%w
A 3s5chdidorsoapo Lo D § 0008 TS
B. s ST SO0 I Solessd
C. BESdSS D IATOAN0 Il 59z ar00Ded oD

V. e sohiosd
5B HIPGS0 TS o
(1) AL, B-IIL; C-IV @l2) A-IV; B-IL CI
@y A-IV; B-IIL; C-II (4) A-II; B-IV; c-II
37. Match the following Labour Codes formulated by Government of India with the Number of Laws

amalgamated in it : :

Labour Code Number of Laws
A. The Code on Wages, 2019 Pr—f

II. 4
IIn. 13

B The Industrial Relations Code, 2020

C. The Code on Social Security, 2020 =
1th and Working onditions Code, 2020
Y V. 8

D. Occupational Safety, Hea

Choose the correct answer :
(1) A-Iv; B-III; C-1II; D-V
(3) A-II; B-I; C-IIL; D-IV
2786 (D20ed $O SrroBoRS (80O

Iv. 9

- of2) AL B-IL C-IV; D-III
F4) AL B-I; C-IV; D-III

S5 56 e@f;wé‘ 20 TS PO HoPEE BSIOIN:
i

ST DOPS

26 §6 i)
A &FE S IS, 2019 @ L 3
B. & z0d|200S 68:48) §6, 2020 IL i
C. BF5 S IS DErOE, 2020 IIL 13
D. edhngd B, 3d Sk 56300 $0&1S) 86, 2020 V. 9
. V. 8
5B DSFEFS0 DOTHE DS :

(2) AL B-IL; C-IV; D-III

(1) A-IV; BII; C-II; D-V
(3) A-II; B-I; C-III; D-IV

[7]

(4 A-II; B-I; C-IvV; D-III
EEE
i

(13)
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38.

39.

ot ie/are correct in relation to the disabilities specified in the Rightg
Which of the following stateme

9

Act, 2016 o

Zf Ple;rso:: with I;mnb':“::m]sy are part of physical disability under this Act.
. Dwarfism and cerebr y ¢

N considered a8 persons with disabilities under this Act.
. C1a attack vicin

Choose the correct answer :

(1) Bonly

(2) Aonly

(3) Neither A nor B "

(4) Both A and B o

DEeroHey 800 980 2016 (:5‘ o)6‘2,r6) ééﬂ“s@ﬁ) f\)O?‘)O&OC) lgO& oT)a)”f’J"M B9 & ’“p ?

4

A & OO HSB0 BHES0 SHB080 m?!{@?r DETSO (cerebral palsy) 2798 5e3:0 (physical
disability) & 2rrrex. #)

B. & Q0 (D560 Qe @ erQOd DEerohentr HBKSP s,

OB DSTETR) DODE DO :

(1) B Sr(ebsd

(2) A SreD

(3) A HBAK B BOKy 5%

(47 A O B Bodsr

Which of the following statements are corre?é in relation to ‘The Maintenance and Welfare of

Parents and Senior Citizens Act, 2007’ ? 2

A. Maintenance of parents/senior citizens byoguldren/relatlves is made obligatory and justiciable
through tribunals. 432

B. As per the Act, senior citizen means any pqtson being a citizen of India who has attained the age
of 60 years or above.

C. As per the Act, the State Government S}%l designate the District Collector as maintenance
officer.

Choose the correct answer : _
(1) A and C only (2) A/BandC

(3) B and C only (4) A and B only

'SOSOIED HOAW DAHE VS A5 574 };536011) DOZ0 YO, 2007 SF H020AOD 1F0d
F5s0S D e, ?

ﬁﬁ“*

A SDSOED/AINE 3Ty k), Qésig 5B DRV/20DYO IO © (BangSy i
T*500VEP0 TAHDEOA.

W
B. & 0990 (D5°60, DAAHE 1e32S @0t 60 (oméégo"e» B & DAAS S0H0) FOAS (PSS OB
588, b

C. & 590 D60 T RHFS50 DoNoBTS) WG I B¢ EBEGH® DavWoa,

DB DIFETTR), DOV A0S :
(1) A SO C &rSD @ A, B SO C
(3) B O C S @ ASDBA% B SHeH

@5
(14) E%\é
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40. WhjCh‘ o th'e'follovs{ing statements are correct in relation to NITI Aayog’s claims in its discussion

paper Mul!:ldlmensmnal Poverty in India (MPI) since 2005 — 06’ ?

A. Aé);goxglglately 25 crore Indians escaped Multidimensional Poverty between 2013 — 14 and
2022 — 23.

B. It claims that basgd on the interpolation of the MPI estimates petween 2005 — 06 and 2015 — 16,
the head count ratio for the year 2013 — 14 was calculated a8 29-17%.

C. Gujarat recorded the largest decline in the number of Multidimensional Poverty Index (MPI)
Poor between 2013 — 14 and 2022 - 23, | |

Choose the correct answer : - 51!

(1) B and C only

£
#
H

(2) A and B only

(3) A,Band C “{4) AandC only
A& esTBrh &S DT D0 ‘2005 — 06 oS eg: f§‘ B3505°D 300D 2,48%0" (MPI) & 835) 1806
;vga_)ge)fss 23) &aﬁo)) ? {,)
z & =
" i(gg(; é;, g‘o& 2022 23 5§ SOOS cb}cs"@ o5 €8 rOBAWED DIVINY 55880 &0k
B. 2005—06 08050 2015 - 16 £0¢9§ MPI @0,5%.3?@ 50@6@66&5 esgrdorr 2013 — 14 H05$ T8 e
B850 AN 29-17% 1+ B8 0 - :
C. 201314 OO& 2022 — 23 éa%gas?fge?‘aagggg 2,58% KO8 (MPI) 280> DS ss0s S
$20S S SZrBoB. '
HBS ST, DONF O :
(1) B 0B C (b @) A B0 B & (S
3) A, B 30805 C ' @) A DBOH CSTSD
1. Arrange the following Policy Initiatives in [lnlia in chronological order based on their year of
launching : &
A. Rajiv Awas Yojana )
W

B. Indira Awas Yojana
C. Pradhan Mantri Awas Yojana — Housing foriAll

D. National Slum Development Programme 4

Choose the correct answer : ’iﬁ
(1) D,B,C, A 2 C,A, DB {18) B,D,A,C 4) D,B,A,C

;8B50S (808 TSI $850:8 T3 BN 003980 o SO

€080 ) :

A OES e O

B. 2088 &R O3rad

C. HFTI0S e Ora

KU Tlele)

& - 5700 H6 S

D 2&0% SnO&Tce (Slum) @DIYE DGO

o G R0 3((2)?»%»A D,B (3r B,D,AC 4) D,B,AC

(1 D, B, C, A 9 £3y & et et . . y APy &3y .
2 Ai'range the following Committees/Commiss@s for Scheduled Tribes in the chronological order

based on the year of their formation : 32 '

A. Dhebar Commission "B S.C. Pube C.ommltte(—-)

C. Bhuria Committee (;z? Verrier Elwin Committee

Choose the correct answer : +

() D,A,C,B @ BD,CA F® DABC @ ABDC

NGRS Bife TBF JT°IED Z2S (806 émgtszﬁmfs 0 T3 JT°YeN TS 0S80 o

SOESrOIE0 €9BD YW (f% . |

A Tob sasS LD, 7 8¢S

C. Zroosr e D. 38090 9@55 E0e3

$BS SIPEER) DODE TAWS -

(1) D’ A’ C’ B (2) B’ D’ C’ A (3) D’ A’ B’ C (4)/ A, B’ D7 C

EEE

] (15) 5

R ]
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(3 1” :
elated t0 the term “Kallakkada N
statements T in Kerala, is where the sea surges int, the

43. Consider the following » as “Kallakkadal” i

d t
A. The phenomenon locally referre

tal areas.

tion of coas ;

land, causing inunda s that take place without any noticeab
vents

L l

le advance change in locg]

B. These are flash flood €

winds. - U
ts is/are C
Which of the above statemen
) Aonly
(1) Bonly ogjg
%) Both A and B
(253

(3) Neither A nor B o |
$085,86" ©F S8 Ho0B0DS (800 TP S0l :

A Néa SRSy, BEFS' Ao §03%) $Fesd Denrrch, B VSIS0 ZTD G (HF0d)
BIALM . .

B0 O S0OTH0R. N
B. 99 P& H3ee dens0ed HHA0BOAS &) BHoom $0BI0T Doy 5B HOoEISED.

R TS’ DO/ HBIQ/ ?

() Bar&$d @) ASred
(3) A 58080 B BOr 5% (@ A 5605w B Bodkr
=2
= i

44. Consider the following statements regarding t};‘sﬁ)lack (regur) soils found in India :
A. Black soil is the 3™ largest soil group in In(%.
B. They got their parent material from Cambrian period lava.
C. They have high water retaining capacity. @)
D. They are deficient in Iron,
Which of the above statements are correct ?
(1) A, B and C only (2) Aand Conly
(3) A, Band D only (4) B,CandD only
>Se T30S’ §3903 39 Foo% B%HE) r‘()OZ.)O' S 808 & 5508 HBHEBOSOS -
I Boew 378 B0 Sarcss O8S Fo Q}ﬁmmo
B. @2 30D0HS 500 erar 08 €3 Srehy og&%n&); FOATOW.
C. ©) @f% B denHE @‘é)g‘g&)l On &a:gm

>

D. JBS 0885 50 &enod, w

2 TP5OS” D B ? ©

) A, B 5805 C sma @) A DO C S
(3) A, B 8050 D S5y 4) B, C 8%y D (53

E’ (16) g&@
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45 Consider dt:.he 15'1'(‘>11'10v.vlngf sgatements in relatiop to Tropic of Cancer and Tropic of Capricorn :
A. In India, opic of Cancer passes throy, h ¢ Rajasthan, Guj
. , Gujarat, Madhya Pradesh,
Chhattisgarh, Jharkhand, West Bengal, f; ri;fll:aS:z(tie;{ ;)zora I.ln - y ades

B. The Tropic of Capricorn passes through the country Bolivia.

C. The city Rio de Janeiro is one of the closest, cities t;) the Tropic of Capricorn.

Which of the above statements are correct 9

A a};’d c;og d (2) A and B only

(3 A Ban (4) B and C only

éo"z,eo;j;;i);o? D8 Bperdy QODOROD & (806 a3 H8%B0t508

A @ 0S5 50788 B Toasyrs, toes e x 85,08, HP50 Bord, |BHS

, DBOS, Jrde (HTF, 9B awb, GrOFOL, 27 ;183

508050 DET°0 OO H0m Stoehod, SRy

B. %S B FOI BHo tho Sewevod] |

C. O3 & BTVoNT SHEI0 38 B eves s 8T 95y SHoos' 2,568

2 TS D IS ? 40
(1) A SDBAD C SresH ;a @) A B0 B ST
@ A, BOSHC W (4) BB C ISP

Tk
P

Yok

&
s

46. Consider the following statements :

Assertion (A) : ‘
The monsoon enters West Bengal and Bangladesh from the south-east instead of from the south-

west direction.

Reason (R) :
The Bay of Bengal branch of monsoon wind strikes the Arakan Hills along the coast of Myanmar.

These Hills deflect major portion of thez#bove said monsoon wind branch towards the Indian

gt
N

Subcontinent.
Choose the correct answer : o

(1) Both (A) and (R) are true, but (R) is not%e correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the;é}érrect explanation of (A).

(3) (A) is false, but (R) is true. &

(4) (A) is true, but (R) is false.

00 55 HBMHEIoI0R :

SIS0 (A) :
200N 0T

5°0800/o30€0 (R) :
% D0 éﬁ;& J0E &) IS FOLOD THA0H. & ToKe DA

OMTEresY 0SIDITO :
B9 )00 20$HSTe TPSQ I0F 2P S BHPOGO By V9T .
re

HBR DSFETETR), DODE T : o
1) (&) B0 (R) Bods D0, S () STO ) T KIS A6 S,

@) (A) 805 (R) Doy 20 800 (R) 5 (A) T OB dSSe.
Youd

(3) (&) 8y, D (R) dO. @
4) (A) dz0, A (R) $D,,.

[E » (17)

35 BomsS B0 2OTETSE BH 0¥ H0& S0 efiyoh &3 Do (HIFYow.

i
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417.

48.

49.

Which of the foll
change ?
(1) Sherman Crater

3) Vredefort Crater g
3 o éaﬂgié)él (20

. 3 [P PG |
g piggest Permafrost Crater that is thawing due togtovbat C“mak

owing is the WOF 1d
(2) Batagaika Crater
(4) Karaha Crater

05065 @& DG 73S HOD BT Deo (Permagy,

iy 95398 3700 1
Crater) LiOC; :é 36" 2 s (3eb
(1) 307 U @) Sovr 306

@) SO 300

Consider the following statem
A. Bankura, which is in West
B. Dewar, which is in Himach

ents :
Bengal, has a prominent silk textile industry.

al Pradesh, has a gxfominent woollen textile industry.

1
g/are correct ? L;

Which of the above statements i by

(1) Bonly (123 A only

(3) Neither A nor B (:‘% Both A and B
4k

1806 55 HOHEIOT W

A 535 Bord D 20%0S 80P SV SRHOFID &00.

B orsrS ($55 S B6 S (D &), S WO God.

2 55O’ DO/ SBIE/ ?
(1) B Sr&
3) A 805 B BO&F %)

2) A Sy
4 A B0 B Bokr

Consider the following pairs : n
Conflict Region Countries Invblved
™~
A. Lachin Corridor Armenia-Azerbaijan
B. Ilemi Triangle South Sudanéﬁthiopia
C. Essequibo : Venezuela-Guyana
D. Halayeb Triangle : Egypt-Libya {5
Which of the above given pairs are correctly mat@;’ed ?
(1) Aand C (2) AandB (8) BandD (40 BandC
80& 23S 8BBSOS :
D0sVYED (030 Lé&abai»@’-é{a'w
A OD 80 . @63‘3&?_@&%}8@&5
B. 28 (&rons D S8 AreS-R8TracsT
C. IR s
D. FOBS (OASTroiS . o A
. é38 - 7
DI DS D zden 507 & >R
&= QBT DB IDETON?
(1) A S80%0 C o
, (2) ASB0sw B (3) BB D 4) BB C
=
(18) B
- |
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0. Consider the following statements ag . New and Renewable Energy, Government
: of India (Annual Report 2022 — 23) : per the Ministry of eV
. h _ ‘ o
A. gzjczicl};i 20;; | the largest cumulative solar power installed capacity In the country as of
Telangana has the 5th : . ity in th t f
B. che nfber et e lérgest cumulative solar power installed capacity in the country as o
Which of the above statements is/are correct ?
(1) Bonly '
(3) Neither A nor B g; ‘gdotlﬁlﬁ andil 2
28 (DS IO TN SrSS SHOAN 5SS £0(B 5 T (0% IS 2022-23) D580
8od FSWEOD DONEFoIo : DSB8 ra?“‘@é : <& 3
D Ao 2022 w88 S 30 T e B Hons 618 SSFDS THT ST 20
B. i’z’ggaﬁ 2022 T°¢38 Beorre TR0 TFoS® 5O @é; 24 Hodd OHE Ss5aTDS sy 390
) F DO DO/ DOTIE/D ? "
(1) BIr&~" , @) ARred
3) A B0 B BOKr 5°9) 4) AYOO™ B folele Ny .
51. Following are the names of places/locations which were mentioned in the news during the
2020 — 2021 India-China standoff along LAC (Line of Actual Control) :
Arrange the below places in sequential order from North to South :
A. Galwan Valley B. Hot Springs
C. Depsang Plains D. - Pangong Tso North Bank
Choose the correct answer :
(1) C,A,B,D 2 A,D,B,C (3) AC,D,B 4 C,B,AD
FOSTI  HOTHSD TS davogn B e}km Sond E)E  HBJ0BS  JAHOS,
2020 — 2021 &° DS SP TS’ (HTDOVAES FFOTR/RErO 235 808 B SRFTOW.
806 PerO) &SSO DO 8T8 HDD &30S’ 2808 :
A HersS S'ab B. S R)00)
C. Bar)oh DrareD D. 5:35 ol & ~°0 2508
$BR DETETTR), JODE TANI : e
(1) C,A,B,D 2 AD,B,C (3) £ %C, D,B 4) C,B,A,D
52. Consider the following pairs : %
Particularly Vulnerable State - iﬁ}
Tribal Group (PVTG) :
A. Asur Tamil Nadu
B. Gutob Gadaba Andhra Pradesh
C. Kolam Maharashtra
D. Riang Manipur
Which of the above mentioned pairs are correctly matched ?
(1) Band D 2 BandC 3 A ;and D (4) AandC
806 e HOKB0H0 - | L
(38S 7S Ab25S 07280 EL
S0 (PVTG) ‘ %
A N6 SNFDT D o
B. %&'S frer @Ol BT
C. §€Q)O s :0;560—1%} ¥
DS DY) O mesen HOT BSHEVDATOW? )
(1) B8k D @) BB C (@ ADOAW D 4) A B C
E (19) 5&5
[,
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langana State :

s about rainfall in Te

out 80% annual precipitation.

for ab
e and lasts until September.

63.  Consider the following statement
11 accounts
gal, which, along with the N orth-East mMonsoop brjn
§

A. South-West monsoon rainfa
. ing Jun
B. South-West monsoon arrives during

Ben
C. Tropical cyclones form in the Bay of

rains to South Telangana.
rrect ?
(2) A and B only

Which of the above statements are €0
]
(4) Band C only

(1) A and C only
(3) A,Band C ff N
Beome T SE S0 HBOD 808 TWIFD 5639008 :

S8 06ST T 80% TS50 SEEO FOENOB.

A T8 awdnste SgrEo0, Q8 @3S ‘
202025 SBZL aHOLFW.

B. 53 awddsmres omS To S 005D}
SRS, TS 2SHSTOS FeD S8 BOOTNY; gpm,.

C. 20rrergreosS IE)E GReoBe

S ow.
D TRIOS’ DD IBISD ?
(1) A SB8A0 C S5 (2) A BN B ST
(3) A, B 380 C/ @) B HBAM C ST
‘télangana Socio Economic Outlook 2023 :

54. Consider the following statements as pex_ljg
257
A. Telangana produced about 8% of thqiwggtal rice produced in India according to the estimates fo
? |

2020 — 21. , &
B. The total area under paddy in 2015 %ﬁG was 25 lakh acres. By 2021 — 22, the area under paddy

4
<, =

increased to 97 lakh acres. »
Which of the above statements is/are corfétt ?
(1) Bonly (2) Aonly
(4) Both A and B

(3) Neither A nor B
SO0 JTadress eds Cﬁe)égéo 2023 (55°50 808 55> HOBBOSOA :

A 2020 - 21 @OTR® (I5°60 PFESTHOS’ res 1 &0ds Ingo HAsoeS’ Berorre TR0 o) 8 T

(%) 565383 TXOA. [
B. 2015 - 16 & S6D IRFo Jwso 95
> 20 250§ © J¥oTen. S 2021 — 929 $ 089
DET 0% DOAOB. ) T8 Sorrit digo 97 0
v !
2 TPIOS IO/ HBSE/D ? o
(1) B Smesdh it o
(74 A éju é
(3) A 80y B Bockr 5% <F W A% 2
@ @ 805w B Bocsr
»@%5

[

(20)
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56.

§7.

(1) Bonly

(3) Neither A nor B (2 Aonly
(4 A and B
(80O T$DOD HBNEBOSoA - ) Both A an
A 258 TFOS, I0e3e8 23
" " Arule} ;:)O %&/}) -

B. 230330 SBED 1HDerSor «ﬁn@&;g\) SOFBI pares’ FroBRSO

2 TROS B/ HOTSA/2 2 BB HOUI.

(1) B S : ‘:‘

(3) A B3N B Bodkr s f»ﬁig A Zr@;:i i

e AN BToO

s

GETITON
Google Play

Consider the followin. )
g statements related to{Road Transportation (2021 — 22) in Telangana State as

per the Telangana Socio Economic Outlook -@23 :
A. Telangana has a total road density of 97-49 km.for 100 sq. km.

B. Among the distri
g the districts, Hyderabad has the highest road density followed by Medchal-Malkajgiri

and Ranga Reddy districts.

C. The total road network in the state including National Highways is 1,04,277 km.

Which of the above statements is/are correct ?
(1) B and C only (2) Aonly
(3) A and C only {714 AandB only

Tsaisal

B0 SrEs @08 eySens - 2023 WyBo Swore oo Srmrde S (2021 - 22) §

$020050D) (80H s NBKBodod + -

A

B.
2eTex) Ga°) ON. ot
C. o0 Bnso 8% FESB; aach 8

2) 55 QO HODOIA/D ? &)

BOmrereS’ (H 100 5. 8. DS I0es0 9549 8N, ST o GOO.
Bere) O FETrE eSO Ee FoTEEOD &0, ST°5S SO B )S5-Der S 7B, Somrd@
e

L
hod §O 1,04,277 8.2, T 00,

(1) B 8050 C S5 (2) A Sr|SDd
3) A SO0 C S5 @) A SHB05M B Sr(SD
Arrange the following islands of Japan in sequential order from North to South direction :
A. Shikoku B. Hokkaido C. Kyushu D. Honshu
Choose the correct answer : : a.!:j
(1) B,D,A C (2) A, C’ B’ D 6.1(3) C’ B’ D’ A (4) D, A) C, B

y 43y ¥

$5350 S8 B0 00 08 :
D. ¥

225 S0 1806 By B0 08 58 4 s )
A (S g ormowd S0 S

3B HIPErD, DODE TOLV : 4‘:;
(1) B,D,A,C @2 A,CBD &@® C,B,D,A

(21)

[P]

D,A,C,B

%

[a]pal
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58.

59.

60.

i ir location ?
Jants is/are correctly matched with the
mp an

i iniu
Which of the following Alumin!

ukoot
A. HINDALCO hal
B. BALCO Korba
C. NALCO Asansol
Choose the correct answer : (2) Aonly
(1) Aand Bonly (4) Band C only
|

808 e3¢5’ & @O0 Y08 (&0)

A oSy : BO&rE 3%
B. &r5) . Foo) ¢
C. o) : edSIS 3«?

f;@«é waﬁyc?éo Qoz’);é)éw - @ A S
@) A BN B S| (th) Bé)bOZS)JCéT’Lé@
(3) A, B 5005 C G

Consider the following pairs :

Ramsar Sites State

A. Rudrasagar Lake : Uttarakhand

B. Nanda Lake : Goa

C. Ansupa Lake . Odisha

D. Sur Sarovar :  Madhya Pradesh

E. Nal Sarovar :  Gujarat m

Which of the above mentioned pairs are correctlgﬁlatched ?

(1) B,Cand E (g} A, Dand E

- 3 B,CandD & A BandC
62 (800 23808 D068 ; +h
oD 6 Dey ovsio iy

A QBB O80Y  : edoopol Wl

B. S0 $8:0) L &)

C. &) d8) o Ty

D. &6 3635 e

E. &S 3856 L hBoS
DY DB D B3den J6IP RO Y& roN ?
(1) B,C B0 E
(3) B, C 8050 D @ A DSHdNNE

tﬁ),} AB BNVeTo W\ C
Which of the following Mminera] haa o

not b&n idare: '
2023 by the Government of India ? ° bé‘:e,(l identified as a critical mineral for India

(1) Copper (2) Cobalt @ Ti
n "
(§1<;& ;5:;36‘ A8 2023 ° wéé&;v;gg §®§@ 3 Q%qnv s S50 1 6(4) Chromite
2) op . OLI2GSH ?
8F o @ ¢
S) D ES
il
(22) o
[
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Consider the following statementsg -

61. .
A. East Australian current is g warm .
ocean current located in the Pacific Ocean.

62.

West Australian curr :
B. . o) ent is a cold ocean cur dian Ocean
Which of the above statements is/are correct ? rent of the Indian .
rect 7

(1) Only B
(3) Neither Anor B (2) Only A

(4) Both A and B
800 DO DOHEIOTHIW :

A. éa‘FQ @L—}sg@&)‘s \'\\,)l;i\) b " . . .
B D570 0T H1DE SHipsmicoS GO 85 HBNE (HTFFO.

3D 8RO & " *
B. Sy &l VIS (D0 @B 2rody &E&ém@oé‘ @) e DBNIE DHTEPO.

2 T5DOS” QB HOBOSE/D ?
1) B IS |
Consider the following statements about Isotﬁg;ms showing horizontal distribution of World
5 i’if‘

temperature : s
A. Isotherms run in an East-West direction and a%}generally parallel to the latitudes.
anction of continents and oceans due to

B. Generally, isotherms are straight but they bend at the j

differential heating and cooling of land and water.
C. Isotherms are more regular in the Northern hemisphere than in the Southern hemisphere.

Which of the above statements are correct ?

(1) B and C only (2) AandB only

(3) A,Band C (4) A and C only
550 &gl T, 882 JSross DISHD lﬂs»%) (375 Bee (Tsotherms) HBOD SO0 FWIO™
g ‘

H8H830504% : :
A H3rR) BOPew S3ED Y-S B3S GoeraD éa;lﬁ?ﬁw PR deL~lole) 5073 BIFOSIOT AQB0V
25 SOA £He3 Bdy & HdAW

€ OEON.
e OO NI O

B. 80
He5OE8e

ro@eS’ SO GOEroD. ot
C. HI3x) OPen %8 eQ Ko $0B GSTQ HesoSTEhB0e |50POTT GOLTOW.
2) g5 D HBOD ?

(1) B das» C S| @) A SOOM B PR

(3) A, B 80w C @) A SO C S|
Which of the following pairs is not correctly matched ?
(1) Hazrat Mahal . Led the revolt in Lucknow

(2) Kunwar Singh . Led the revolt in Bihar
(3) Azimullah . Led the revoltin Murshidgﬂ:ad
(4) Rani Lakshmibai : Fought against the Britishwith Tantia Tope

806 2SS DO HBS £S5 e
@ sussoes 1 oS Soihoarendd TONSEI0 SeroDod

(2) 50356 OF 526 S BN mﬁsg%s,go $EOTTE

(3) @dsner sodeerd S Sthreensd FraH¥S S0 SO

4) o ofron | @08 SHS O Li)ﬁfwé;@g $5DBForr HForer0 TR0

7]

™ S35 DPen S088 SHom (straigh%?jf&so&Yon, 5
DEAHS® SgEsre $G0T @ {iiéj?)thenns) PO

B
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aktri Jambhekay .

Sha
ngadhar
:al reformer Bal Ga and the first Marathj m%th

64.

66.

67.

t socl
abou . _ Durp it ly

Consider the following statemg M ratha newspape

A. He started the first
magazine — Dlgdurshu X patber of Marathi Journalism’.

B. He is also famous as ¢ correct ?
Which of the above statement"s is/are (2) Aonly dB
h A an
(4) Bot RS 2 BHe300G :

(1) Bonly
(3) Neither A nor B 85O 080D & 8ob &5
7R 8078 by 5 556050 BA 65 &% BoLS0AE ey By

050 S0 e tiored 5 58

A s S eoff-$08 TE 57‘355 3
J|e3ED (B0DOT.

B, &0 S0 3608 DT gﬁwow@

E DB/ SBIE/R ?

(.;_o) ?ii;e;, ATAANEd] m o s

(3) A 8050 B OG> 5°) {131’ (4), A o8O B Bocr

Who among the following was the Constltut{t)nal Advisor to the Constituen

(1) B.N. Rau (2) Alladi Krishnaswamy Aiyyar

(8) S.M. Mukherjee (4) K.M. Munshi

aTESTH Trar g0l eSO ovaavgoﬁ BT & (808 O’ 5B ?

1y DS, o°S (@) e SyrsD ©oHsd

3) V.S, Soxd (4) B, S0P

Which of the following statements is incorI t?

(1) Rongali Bihu marks the harvest festival i Uttarakhand.

(2) Thai Pusam festival is observed every y&gr in Tamil Nadu.
(3) Moatsu festival is celebrated in Nagaland 'which marks the farming season.

(4) Sarhul is a harvest festival celebrated ufﬁharkhand and Bihar.

(80 HBFBIOS D DB 5% ? %

(1) &0t DIV &SP S Hote> HOH. {1}
@ 0D IR0 DO SNFTERS’ (HS LSS IE0 B5NF0ErED.
(3) 0e) OIS FMerod & SISO FOO (3258) (G028 HOBAT 2ENF0ETED.

@) FHS ©TE HrPos B8N DB 6’ 23DHET HOLI HOKH.

¢t Assembly of India ?

Consider the following statements :
A. The Government of India Act, 1919 prov1ded for 51mu1taneous Indian Civil Service Examination

to be held in India.
B. The first such examination was held in Allahabad in 1922.
Which of the above statements is/are correc
(1) Bonly
(3) Neither A nor B

806 (HBFSSOD S06Bos0s: b
A, 2030DS DS IR HBE& ngmo@“avééﬁéoef QB $ar0TEI0%0E 1919 278 eh (D20 § o

&S50 TROA.
B. & D85 3ncsed o 1922 & @Oa‘wé%‘ QB STOTTED.

2 TEDOS DA/ ABSE/ ? - ,«}
'}

(1) B ST
(3) A 805w B BOG 5°%)

r“"“] (2) Aonly
" (4) Both A and B

2) AT
(4¥" A 08050 B Bodyr

%

(24)
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700

A. Bharatanatyam :
B. Sattriya i
C. Mohiniyattam
D. Kuchipudi
Choose the answer :
(1) Aand B

Carnatic 4
Ankiya Naat,
Kuﬁyattam
Kumil

(2) AandD

GET IT ON

Google Play

re not
correctly related to each other ?

(8 CandD (4) BandC

806 ¢3S°
! S*  B3Sew 2% TRFTEE Ham Qo080 508 TP
. o !

A POSTLS0  : ETEE Hofeso
B. N0 : ®080H ¢S
C. JIAASTYO : So&3asréyo
D. S8 D S
DATETER), DODE T -
(1) A 30805 B @)

Arrange the following Satyagrahas chrono

A. Munshigunj Kali Temple Satyagraha
B. Vaikom Satyagraha

C. Nasik Kalaram Temple Satyagraha
D. Guruvayur Temple Satyagraha
Choose the correct answer :

(1) B,A,D,C (2) A,B,C,D

M
Ll (3) CHOADD )

A 8w D

B Sndcsw C

w X3
& W

2
l:9gicaﬂy as per the year of launching :

ol
ot

3 B,AGCD 4) C,D,AB

&3 (808 HTYHTINOD @) (FE0E0IAS DO G0 (TRHOET @B I

A, SN0 579 TBIOD Heweg((isren
B. DESo ST

C. TE SerTed B0 H&°§|(1ers0
D. %&S00rE Baread Seeg(fisrn
JSTOTR), DODE TS :

(1) B,A,D,C 2 ABC,D

N
"

&
o
R 17

{lf}) 4 C,D,AB

@) B,ACD

tements are{EOrrect ?

Which among the following sta
for Dhrupadand Khayal music.

A. Gwalior Gharana is known
B. Kashi Gharana is known for Tapp

C. Lucknow Ghar
D. Indore Gharana is known fo

Choose the correct answer : 4
2) A,B,CandD |

(1) A,Cand D
& 1808 DHAFBSOS
A (055 sHBA5D PO
B. &) 63 ZrosrFTe %ol

99 BBID 7

C. BosrS HohedSs ©F)
D. Ro&E 2o BASTS OO
HB DIFET Y oD% TOSV |
(1) A, CH8as» D 2)

S Hofierds e s©0HP;
& oD
4507 (DVP Bo&?}&.

a form of classical Hindustani music.

ana is known for Khayal music.
r Khayal music.

(38) B,CandD (4) A,BandD

p 4
LTS [PRGTOL0R.
%0 58 DT (DY Tobob.

Q8 - [T

)
4 A,BHOAND

A B,C50600D (3 B,C500D

(25)

mﬁm,
| 3, 0

FA
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71, Arrange the following inte
i d IMF)
P . B. International Monetary Fun 0
3« Uinited Nitlans Organiea 8, (o D. World Intellectual Property Organisation (WIP(,

C. World Health Organisation (WHO)

Choose the correct answer : A B CD 3) D,A,B,C 4 ACBD
(1) B,A,C,D (2) A5

58 5056350 egrEorT, S°© (570 (33’ Oy, .
808 2D 1% BoSTHAD HoPOS ¢ HSFS B ,
e @ B. 0SS0 (995 DG (Ij\dF)
2’ %gso:? y (\;‘;:g}; (Ug gx)/HO) D.  (HH0S SHE 50N Hogy (WIPO)
- D00 e8d7g o
OB & D) OTHERDI :
72 Whicil ,Of’the following statements about Indial-l\/{iddle East-Europe Economic Corri EC)

project are correct ? o e e y
A. The project was signed at the G-20 Summit held in New Delhi in 2023.

B. Itis a part of the G-T’s Partnership for Global Infrastructure and Investment (PGII) project.
" e : ina’s Belt alitl Road Initiative project.

C. Ttis considered as a response to China’s Belt and ' ) i

D. Saudi Arabia, European Union, India, UAE, UK, US, France and Egypt signed IMEC’s MoU.

Choose the correct answer : %

(1) A, B and C only (@)g, B, Cand D

(3) B and C only : (4) A, C and D only

WOS-R¢5 (reds-0Far 88 s:0mE (IMEC) 1rB550 00220800 (808 spsereS DO DD ?

A & rEf 22023 S S5 AOS’ BOBS G-20 FDT DIFSIoS® Hossren 2EHII.

B. G-7(200%5 S5O He0araiher 58050 EP2© aRirs350 (PGIT) &° &s (B8 2.8 27w,

C. 20 B Ty BY 00K & (FBP DB JoBST 27052808,

D. 6 &3DA, ArFHANS AhrAAHS, ardSTHd, aam, s D, Sy Ok SePen
DDA T IS 229080 B H0SE0 T,

i,

DB DSTETD), DOTHESDS0 od
(1) A, B 58050 C S5 (2%&& B, C H80sw D
(3) B D8 C Sr(evsdH (4414, C 58050 D S5

73.  Consider the following statements in relation to tlléplobal Biofuels Alliance :
A. Ttis initiated by the UNO. B
B. World Economic Forum (WEF) is a part of the alliance.
C. India is a member of the alliance.
D. The alliance was formally launched in New Delhi in 2023.
Which of the above statements are correct ?
(1) A, B and C only (2) A)B,CandD
(3) A, C and D only (4iw}B, C and D only
D0 25 ROGES Sreadns 02060 8o arsasgebisy HORBOSos
A 30 DE0ES SN (UNO) & 50 [FrSofosnaos:
B. (00025 &8Q8 °80 (WEF) & Sr&se’ oo o

C. & Erene grdstSo Habsoren, H
D. & 8r&d S5 SO 20286 erossom 3508 Lema0n,
2 5O A HBTXD ? %
(1) A, B 005 C &g @ B, C $980% D
(3) A, C 805 D &S e53 4) B, C 8050 D Sr(¢sh |
[p (26) E«;%%
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74.

75

I R R ——
:ch of the followi
(I)Whllieland e s adumitted intn the NATO i 20237
inland : i (4) Swed
" goif; & 2023 &' (NATO) & mmg‘ao@gza—f;ngg?e "
0 o, (0]
;ld)atch the following BRI(;ZS) S:S ?05 (3). e Bond 4) DIHS
mmits wi . ) ‘g ¢
Sutr:mit Ghuntsy 8 with their I‘?SBectlve host countries :
A 1 . I.  India e
t e
B. 12th II. China &
c. 13 I Brazi 3’?
th - 4
D. 14 IV. Russia i
V. South Af_[‘ica ‘f{j}«

76.

@)
(2) A-IL B-1V; C-; D-V
4) A-V; BIIL c-1v; D-I

Choose the correct answer :
(1) A-III; B-IV; C-I; D-II
(3) A-IV; B-I; C-III; D-II

8068 (D8 (BRICS) FPTf D370 0 23808 Brerd 230G |
20071 SrFHo S0
A 113 L orosdso
B. 12 I B g‘j
C. 1385 . . (B2S +©
D. 14 IV. 8§ n
V. &80 a5 ]
5B DATERR), DOE : 2“%

(2){-}A-II; BIV; C-I; D-V

(4@A—V; B-III; C-IV; D-I
Non-Aligned Movement (NAM) belongs to

1) AJII; BIV; C-L D-II
(3) A-IV; B-I; C-IIL D-II

Yoweri Kaguta Museveni, the present Chairman of the

which of the following country ?
(1) Kenya (2) Namibia (3) Uganda (4) Zimbabwe
e @O eress (NAM) 3625 TS0 Srirer SR & 806 BFE ToAS T
(1) 33 @ S (3) oTow @) Bowrds
Consider the following statements in relation to tlrg(}lobal Technology Summit (GTS) 2023 :
A The 8th edition of the Summit Was held in Parigin December 2023.
B. The theme of the 2023 Summit was ‘Geopolitié%,\(:)f Technology’.
Which of the above statements is/are correct ? ;é
(1) Bonly (2);4.A only
(3) Neither A nor B (4} Both A and B
B0t Aro8dE IO HITBIO (GTS) 2023 § $02HOD §08 a5 HOAEIODIY:
S80S BRowb 20238 @O &' 26R00.
¢ orafosren’

A & Qo OSFFR) 8
BS9B0 (theme) 'rOSBY HOFIY LY

B. 2023 260 3O
(Geopolitics of Technology)-

w3r3¥0 B0 A

2 5O DO/ SOOI ?
(1) B Sr|ebad @) A SFSD
3) A SHB05» B BOGT 5% 4y A HOOSH B Bockr
OB
= 2

[P]
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78.  The UN Global Compact Leaders Summit, 2024 is meant to review the following :

(1) G-7 countries’ contribution to the adva

(2) Private sector contribution to advancing Sustainable Develo

(3) UNO’s contribution to further the causr,ﬂf global peace.

(4) Private sector contribution in achievin%aj,;he goals of carbon emissions.

ncement of inclusive international order.

pment Goals (SDGS).

DESoBFHWS fFar& Soar§ OB 30U $3TB50, 2024 (806 T3 DG O &GRODDA00:

(1) DD e0STI0 (SO S0 BB IS0S G-7 B JIeseB0.

2) PTDSYD ©F §500 (SDGs) ;Sno@g;iéxn@#géoé‘ (23ex Sofo MTs°BO. |
(B 1590 ToB S0k BTEE0S BTEs KB L.

@) $8)% ST ©F 00 FSS (RIS 8oi dirsdo.

79. Five ICAR institutions and six locations are given below. Based on the location of the Headquarters

of the Institute, match the following :
e Location of the Headquarters

Institute
A. Central Institute for Cotton Research Eé' L Varanasi
B. Central Rice Research Institute {} II. Shimla
C. Indian Institute of Vegetable Researclnly III. Kolkata
D. Indian Institute of Sugarcane Researczfg IV. Cuttack
E. Central Potato Research Institute ,{}, V. Lucknow
®) VI. Nagpur
Choose the correct answer :
(1) A-VI; B-1IV; C-I; D-V; E-II (2) A-IV; B-VI; C-II; D-V; E-III
(3) A-1IV; B-II; C-I, D-VI; E-V (4) A-VI; B-Iv; C-II; D-V; E-III

D 028 (ICAR) H0Pen HOOKM e (DTBFen (806 RN $DFON. NDOPE TNEY (DTS ST §eaD0
FB0EY, 1DTF0 esceBom 808 e3Q 23608 )0d :

Bogd ] (DTS o7 s0a)0 Q) (S0
A, oS .58 HB S 5B 3? L FOET
B. 06 BR 835) Q)58 i;j 1L ey
C. R0AOHS B8 e IBer2nS S\ CIIL FSse
D. R080HS 2,675 6 DHEIS 68T V. &8
E. 008 &FereS 86) ad) s é) \ of)
VL BN
IBS DSrGrd0 DOTNTDIW : '
(1) A-VI; B-IV; C-I; D-V; E-II (2) A-IV; B-V; C-II; D-V; E-III
(3) A-IV; B-IL; C-I, D-VL; E-V @ A-VL BIV; C-II; D-V; E-III

. E4¢
.P (28) %%ﬁ
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80.

8l.

82.

Bombay Blood group wag discovereq
in

e
, J.C. Patel (9) 1948,J.C. Patel
2302 A& (D D 3 (4) 1966, Y.M. Bhende
RoSE o 8 5oy 80

— B 00.

) 1952, 3.20. FoB
3) 1958, 3. SBS
Which of the following stateme

A. The Sun is 180 million k;j
s n kilo
B. Sirius is a planet of the solﬁe;;::e:vay{from the Earth.
.M

C. Venus is the hottest p] :
Choose the correct answgrénet = SOla’ftéY stem.

(1) Bonly 2) "y

Soil. A onl W (4) A and Bonl

8 S§IPIO y " (3) Conl ) and B only
$R0 VODOROL &+ 1806 BN asggoé‘( fm‘g’& !

(9) 1948, B.2. b
4) 1956, 3.00. BOB
nts is/are thub regarding the solar gystem 7

A SrBsedd a8 180 O 53
B - Q §Q35 &8
B. 0D O A8 Hode0c 2,8 g Q ‘r‘:)éoe’s‘ &), .

OB NXTTO0 DOTHEF DX
ir B GRS @ ASSD @) OIS 1) A DB B STSD
Wh1c1‘1 of the following has the highest frequency in the electromagnetic spectrum ?
(1) Microwave ray
) (2) X-ray
(8) Ultraviolet ray
805 (4) Gamma ray
1808 QSRS e3¢’ D5 OHRR;0eh %3@ & @B $SThesS0 500 GO0 ?
(1) DIEIS (Microwave) 8§5€90 &5:',, @ 28)X) 8880
43? @RS I (Ultraviolet) 86820 4+ @ &y (Gamma) 88620
Five Super Computers and six institutic®s are given below. Based on the location of the Super
Computers, match the following : x4
Super Computer _ Histitute in which it is located
A. PARAM Shakti I TIT, Gandhinagar
B. PARAM Yukti II. Ii8c, Bangalore
C. PARAM Ananta III. IIT, Kharagpur
D. PARAM Brahma IV. IIT, Hyderabad
E. PARAM Pravega V. IISER, Pune
VL. JNCASR, Bangalore
Choose the correct answer : _
(1) A-IL; B-V; C-VL; D-IV; E-I (2) AL B-I; C-VI; D-IV; E-II
(3) A-IIL; B-L; C-VI; D-V; E-II _ (4) A-IIIL; B-VL; C-I; D-V; E-II
0% SrB Kosrsed SOk e éo@oi%éoé S sgrow. Srob SoIrse® &) o ecéor
1808 ¢ 2359808 : ) P
a6 Sosysedb 208 &) V0 4 b
A DO 38 L 0, rodid o
B. HE& Asod I 209 D, Boliestd
- 86 576
C. 155 508 I11. %¢3, PON o “
D. JED (2232 V. 998, OoE
E. D& 1030 V. 200 aed
VL 25 2 0 &b, Botigrdd
3B & TRV
DS SAFGRI0 OIS T @ AIIL B C-VE; DIV; E-I
(1) AL BV; C-VL DIV & AIL BNE CL DV:
3) AJIL B-L, C-VL; D-V; E-II I, BV, C-L; D-V; E-II
EEE
e

(29)
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~J

d to enzymes, hormones ang Tgay;
¢

/
/ 84,

86.

is/are correct relate
s

g meflt T
Ot s’ doliiog B nd then increase the rate of reaction
a

compounds ? . energy

A E lower the acuvatlt')n :ved hormone.

B. Ell)lizrﬁggiix‘:zv is an amino aatd i;:::’ic compound on the Earth.
e nto

C. Pepsin is the most abunda (8)1 A, B and C 4) C 01"113’ ‘

Choose the correct answer : A only 2
(1) A and B only 2 %650 gj@oa 8o 29655206

OB e, TS e O ?\):gﬁzﬁ@‘@é) ,%3’5 $ BENQ DOTHTTOW.
A Q0B en (Sosrdere FEQ SO o 565,

B. DIDS ©TO NS’ e300 wsmgegfé{:ﬁ%&g#éo.

C. VIS D) @508 DDYPT & ¢

QB DSTETS0 OTDE DS : 47 A, B 0805w C 4)
(1) A SO0 B SHSH (2) A SHSD (% ’ .
Which of the following is not included in the Sustainable Development Goals !

C S5

. (2) Quality Education

L Gr.ender Fquality (4) Population Growth
(3) Life on Land
808 TS IO DS DS OF IS BEIEBL ?
(1) Ooff $SrS50 @ dovsreasd
(3) D A0 @ 3z Do
Five Indian scientists and six fields of research ﬂ given below. Based on the field of research of the
scientists, match the following : : o

Name of the Scientist Field of Researc{t}
A. Satyendranath Bose 1. Statistics o8
B. D.R.Kaprekar II. Chemistry
C. C.R.Rao III. Botany ‘fi}
D. CNR.Rao IV. Physics i
E. Janaki Ammal V. Mathematics &

VI. Geology

Choose the correct answer :
(1) A-V; B-IV; C-I; D-II; E-III (2) A-IV; B-vV; C-I, D-II; E-III
(3) A-III; B-II; C-IV; D-I; E-VI (4) A-II; B-III; C-IV; D-I; E-VI

0D 278 FIFSen HONKD esty D8I Sorren (§ocs BSSOFOW. TS QA HBTYT
B0 eSS0 DHE), 8od ¢3 2BI8)04 : '

FY TS Heo S65B> sorio ||
A JBPOBSTESD L s, 5%
B. Q.8 5255 IL 30 o
C. d.ab. oS III. & o
D. R.d3.68.0°5 IV. 98) H
E. 2738 @05 V. D¢Dess) {:?
VL. 208rerze (:33
BB OSPETR0 JOTHERS -
(1) A-V; B-IV; C-I; D-II; E-IIT
(3) A-III; B-II; C-IV; D-I; E-VI ((i)) 2:3” liafl, (())‘II’V D'I;I,I EI:IIgl

(30) gg
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Health Anxiety is also known agq

| g7 " Hypochondria N —
‘ 8150 IO IAL NN N @g)ylg\?‘i:gogia (3) I_{ypog]ycemia (4) Melanoma
o) 2SOl BOsy @) o SITA NN
OJ‘()) Fs 1 <,
88. Which of the fOll?Willg statementj A \PQVW (3) ;m}‘g‘z’om;oﬂv (4) HOITHP
A. pH of a solution is equal to 1 about pH are correct ?
B. pg is Txpll'essed on a scale of Ooiifhl.
) value less th £ "
D. %he gastric jUiceangcigg‘;gaitg iﬁhat the given solution is alkaline-
E. The normal pH of healthy hum :nslg(l)mac}l of the human body 18 acidic.
Choose the correct answer : ood is around 6-5.
(1) A, B and D only '
@) B,C and D only (2) A,Band C only
(4) C,D and E only

pH G99aFS (800 8" D rgpsen 988D 7 |
\Te9E9s30 T30 pH, — log[H*] &% D50 b
DH &5 0 8508 14 FOIPS0S S80&mre. -
g ‘?;3;2 ; §§?§ é@zjéw &OD & Lwéeassaafgé Koad EOR &0,

. o §<3§j<>9)€'36 &5)8 edhs Ty QBHEN0 e theaso SO 008,
E. esSH5508R0S S 380 Ty erds pH Densd o) 6:5-
$BS HIPGTRS0 JOTDE D : @
(1) A, B 58050 D S5 @) A B 80 C ST
(3) B, C B3 D S5 4) C,D SO E S5

89. The correct order of the thermal conductivity of the materials is :
(1) Silver > Copper > Aluminium > Lead - (2) Aluminium > Copper > Silv
(3) Lead > Silver > Copper > Aluminium { (4) Silver> Lead > Copper > Aluminium
HP© GRTTES S0 (thermal conductivity) Bogy QOTS (8D0

1) 50 > 500 > 0% DIH0 > B& ) N0 > FV0 > 2035 > B&
o)) b >B& >0 > 9SO

vawp

er > Lead

3) 86 >0 >500 > IS VTAVAToVE ’
90. Match the respiratory surface adaptation witlﬁ}we organism :
Respiratory Surface Adaptation s Organism

A. Tracheal System I‘;;’.) Fish
B. Gills ) Insects

C. Lungs III. Terrestrial Mammals

D. Skin , Iv. Earthworm

Choose the correct answer :

(1) A-IL; B-I; C-1IT; D-IV (2) A B-II C-IIL D-IV

(8) AIV: BL C-II; D-III (4) A-IL BIL G-I DIV
EIY ] ﬁ;g)@g;@ PPN o) (respiratory surface a?‘a]?tation) 2 o BAS 2SHIO0G

T3 06% DOS© DI 2
A BT RIS Lo
o ﬁx ;zasvio; 530 88
° . 020 o°

C. &0 v, s

D. W60 3

IBS DAPGT0 JOTHE @ _—

(1) AL BI; C-IL DIV fi; ﬁ:hf%l’u?éli g—g”

3) AIV; B-I, CIL; DI ; B-IL G-I, D-

0140
(31) E]%ﬁ

[7]
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A. Exabyte = Megabyte
C. Kilobyte : Terabyte
E. Petabyte F.
4) AEVF,BD,

B,F,D,C (3) EAF,BD,C

Choose the correct answer : 5.4
) 2 T 8GO0 e (5508 @008

(1) A E,B,F,D, C (2
Y ey Ay Ay ’ 6
1806 Sozystsb X8 Ao ¢ &

A d5)BS B. ﬁr?@éses
C. 8BS p. D
E. erBS r woBd

OB & 50 DO !
FEN @ EABFDC @& EAFBDC 4) AEF,BD,C

(1) AE,B,F,D,C

92. Identify the correct statements from the follo
ngent o

A Am lourless gas with pu
monia is a colo by HaT)er Bosch process.

B. Commercially, ammonia is Pr' oduced
C. The production of ammonia is an endothergyéc reaction.

D. Commerecially, urea is produced from ammgaia and carbon dioxide.
7

Choose the correct answer : ¥
(1) A and B only i2) A BandConly
(3) C and D only &) A,BandD only

808 T8S* KBTS gD HBOS0R :
ST @A 2.8 BONBA PFTD TR (10 050,

B. 3235580, eS0T wrab-ar (D80 o 58 tred )8 T

C. &IOS &reh) 2.8 oo WO,
D. Se3e5)800T, CSnOSTRD maSF mo&ﬁ seé;S B 658 © 0B ¢$)8 TI.

OB NATEEH0 DOTNE VAW &~
(1) A BN B (S 12 A, B 8aw C Srsdd
3) C B0 D Sr|had %) A, B 58050 D Sr|ebad

Which of the following statements about Dr. Vmiram Ambalal Sarabhai is/are correct ?

A. Dr. Vikram Ambalal Sarabhai was honoured Pwith the Padma Bhushan in 1966.
B. Dr. Vikram Ambalal Sarabhai was honouréﬂ‘ with the Padma Vibhusan (posthumously) in 1972.

C. Hindustan Aeronautics Limited was founded by the honoured Dr. Vikram Ambalal Sarabhai in

>

93.

1940.
Choose the correct answer :
(1) B only (2) Aonly
(3) A,BandC (4) A and Bonly

@ DD 0TS TN § 02080 @QL& T5DOS IO/ B ?

A @ JESD ©0erS FTEraw D 1966 & HS) gﬁqms & 5 80T.

B. @ QD @00erS F0Eram K 1972 & HSurReS (DOEPS0SE0) (IR0 TR,
C. SrOOYS BT OWBE D 1940 ' o :)@53 ©0erS FT°2TON FDOT.

OB HATETS0 DOTDE D : .
(1) BSr(&D ,‘,jg) A S
£3) A, BB C @) A B0 B ST
op(]
P (32) %%?
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95.

96.

A. Human DNA js . S
0
B. Adenine (A) pajrg I:_I;;Sed of two po; the human DNA :
1 : Ynucleot;
C. The G — C paij Thynllne otides.
i, earc}lzas two hy drogen('ll)‘(); Whereas, Guanine (G) pairs with Cytosine (C).
€ cell contg; nds, whereas the A — T pair has three hydrogen bonds.

ich of th "B i
Whi e above Statementg 23 pairs of chromosomes.

(1) A, C and D only . are correct 9

(3) A,B,C and

<55 DNAS tl D n (2) A,BandD only
VODOROY (80 o (4) B,CandD only

_S%DSO(& 53@?3250 308 -

)&é ) & ’
C. G-C 200 Dotk Trigins S7G8, RS ©) & m508 (G) 2SETES00,
DOGTEN0EPaD, £ A — T 2506 S057¢ FEBS DOTENOLTOD.

13 ‘ éyéé)@éﬁ 8 $830 (cell) * 23 30&ye) |88
2 TP DD HBS 2 © L%“ﬁrﬁ‘s&a@owon.
g; i, g ébi)w o LD - 2 A, BB D S35
y 40y C OOSD D ’ \ i
(4) B,C 83» D S5

Consider the following statements :
A. Tropospheric ozone is a greenhouse gas
B. The 19 e ; '

87 Nobel Prize in Chemistry was awarded for research on the Ozone hole.
C. The Ozone hole was first discovered over|Antarctica.
Which of the above statements are correct ;?J“ :
(1) A and C only | :{ (2) A and B only
(3) A,Band C w"% (4) B and C only
&3 (80O T°§D SO HBKeS0505 : :m

A ()08 £.8S 28 (A8 raded.  s1 ‘
B 5arcs TR0 1987 SBE 25008 LES SolgoD HOFLISH ©POD0.

C. @0er8ye3s R S LES B0K0 5D S2B0B.

2) TOS DD DI ?

(1) A SO C IS @ ASBOM B SIS
3) A, B 835 C 4) B SO0 C SHS

"

Eutrophication is a process in which a water body :
(1) gets enriched with nutrients. -
(2) gets polluted with toxic metals. l‘if
(3) becomes clean and potable. ‘:
(4) becomes deficient in nutrients. “’j
FEFDEIS ©F DIEOHS 5He3 sﬁsé‘a)e\;) S
(1) PFasOS HI0DD0 (enrich) @90 7
@) DALros STFOS eSO OISO 4 ¢
& e9:H3r0T Wé)o&.
(3) H|gsorr HOA (i A &)
(@) grase SHo (deficient 99000
| BT
| G

(33)
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3

i d Reason (R).
97. Two statements are marked as Assertion (A) an

:ation reaching Earth’s Surfy,
Assertion (A) : .+ a concern due to increased U V radiatio 6.
Stratospheric ozone depletion is ,

Reason (R) :

Chlorofluorocarbons (CFCT) relea
breakdown of ozone molecules. . e
) ok EpgopriieDGet fl’_0m oo c% explanation of (A).
(1) Both (A) and (R) are true, but (R) is not the corre

(2) Both (A)and (R) are true and (R) is the correct g?;planation of (A).
(3) (A) is false, but (R) is true. | }

(4) (A) is true, but (R) is false. i) '

B0 & 5508 ¢35t (4) HONW SCeaal (R) ™ {3’;‘}505"‘1’ -

chlorine atoms in the stratosphere, which catalyseg thy
se

g{gfgcggé‘a 5,85 Seoed @IO AN B8y &ﬁéé@o@§ T30 UV BATDIS S0 &0y,
R

$O8N0H, ;,»-3,

50 (R) : -,

| FEIS008" FEFEss)S e (CFCs) §68 Zoéé?;g;;né)oc& Dewe TFaw, @D LES @@y

DDITVAY, G858 HHRFow. ()

808 TS eeh5088 S DD YR, A0 FOS :

(1) (&) 83 (R) Bockr HOTN SR (A) BEy DOTocs D5Sea (R) 5650,
(@ (&) OO (R) Bocks HBFS SO (A) Ty HOTS eSS (R). ‘
(3) (4) SBBWSA e, D (R) HOTIB.

@) (4) SOTSB, %) (R) HOTocSE 5.,

98. Arrange the following Environmental Conventions and Protocols in chronological order :
A. Kyoto Protocol

™
B. Paris Agreement : 'u}
C. Montreal Protocol o
D. Stockholm Convention on Persistent Organic Po;!j‘htants
Choose the correct answer : o
(1) C,D,B, A (2) A/B,C,D (3) #\g, C,B,D (4) C,A,D,B
808 H088e DTS Te SHBA%Y

F*E'eS o SogirSTSom ©NE)0A :
I

Wr

e
@

A TS 19SS

B. 8% eoi0eS

C. IrolB3oHs |&ress
I D. Q8088 Do&AH e SOFO ¥ 5% HSr3so

QB AITTFER, DOHTS% :

99. Arrange the environmental movements in Indig j

(4) Appiko Movement, Narmada Bachao Movemen
378 BHOS'D D058 i3 girerssy gve3 O (S5
47 D, BE5550, DBOE 5O S0, et aes
2) RB0E &3O eed500, DNy, &edsno, @) &
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According to Environment
cion Agency (EPA), which of the following are the criteria for air

107 ollutants ?
A Particulate matter

c. N,O (Nitrous oxide)

B. CO (Carbon monoxide )

D. Ground level Ozone

Choose the correct answer :

1) B,C and D only
53) A, B, (f'and L ©) A, BandD only
o308 HOCEE S0P (BPA) 56 (4) A CandDonly
A $8 & s7e0arseD (Particulate , 05 Teng SETON 8oH IR IHSTEISO (Criteria) ?
c. N9O (B s3)R) matter) l ]é CO (58I 3?5"3,35)
JB DTG0 DOTHE W : -D. e Pow 5,850
f . (“u:\
;:1&; i’ g ?@ao;i?% '“;"("2) A B 808 D G
) ’ JLY 5
ofh) A, C 0D S5

ack Carbon :
g of cooking

101. Consider the following Sta%ements with regardﬁi Bl
0 ing, residential burnin

A. The main sources f
0 Bfack Carbon (BC) are{ﬁ en biomass burn
n release of

and heating, and i . :
g fossil fuel combustion in iz icles.
ing countries results 1

s agricultural areas during dry asons in develop

considerable amount of Black Carbon each year

Which of the above statements is/are correct ?
2 A only

(1) Bonly

(3) Neither A nor B (4) Both A and B

28 56 &y 02006500 (506 FSDIOD HB8%e3008

6 55 (BO) gy WS SSE. 08 gorssD oS

e ST 5T OLED <8050 TS 37 BOGS B&TS0.

4

B. @9I® S0 Srod & S o “(dry seasons)

205860 RO Spdos T8 OIS %?) 50 ©I$0O.

99 $BIBID? 3
{& A NG

(1) B &r\&ad
3) A 005w B Bodw 5 (@) ASOISNB Bodkr
HIPPO stands for

ation, Over-Harvesting

Industries, Pollution, Popul
Invasive S Pollution, Population and Over-Harvesting

Indicator Species, Pollution, Pathogens and Over-grazing

Pathogens Parasites, Organic Wastes
i ‘

HIPPO @OV ! J
55@@@) (Industries{i_fZS‘CDKlso (Pollution), 28°%°

2FISQ oW 005 SATOHE0

A.
550D Lir’oa"oeS‘ =2y (55rS0 SO DS

B TS A0/

102. In ecology,
(1) Herbivores,
(2) Habitat Destruction;
(3) Habitat Destruction,
(4) Humans, Industries;

Bareddes FRO (ecology)
(1) 28D (Herbivores): e
HoeoS'e (Over—Harvesting) %/
truction), O“éﬁ?\i%‘@@ (Invasive Species), e 0 (Poll
-Har%éting)

@) DT ION0 (Habitat Des
?55 e é;aoegg‘é (Over-Hartze
SPdE ereden  (Indicator Species),

(Population) o T struction)
%o (Habitat estruCt " .
oo @68 R 3@33630 (Over-grazing)
BT B (Parasites),

pecies,

(Population) L0 O3

ution), &°D°

5eeNA$0 (Pollution),

OSSN (Pathogens)
(4) éﬁé@@ (Humans), AB|FDN (Industnes},-f P R(ARSEROY B hogens)
?00@0‘5) 35770 (Organic Wastes) @
EEE
o

(35)
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103.

104.

105.

Suppose that B
A * B means A is to the South of &

A + B means A is to the North of B,

A % B means A is to the East 0:}]33, .

2 t * g P:i" Fqurdﬁ' Om

8 - Dimenmsiuimio a8 T. Q is equidistant from P zamd,ﬁ.,1 ta& Q anq 5,
” s "

If P is exactly in the middle of S and S + T, the direction of Q from Is:
. (4) South-West

: -Q*R%
then given the statement(; *"%orth-WeSt (3) South-East

1) North-East
A*Beo® B & 586 B8 5910 A &, [} P
A+B®0% B % &880 & o510 A @), P ’%.
A% B &0% B § &%) &) A @), 3
30005 A - B 60 B § S350 3520 A @ eosod.

S 308050 T &8 SO S0¢5sS” 1O Pyv” ” |

P 0c0 R © 0B desrdos’ a0 & i ¢

Q00§ © wod $HEr6S EBNOP: gy

BN, DAY HSSSO P~ Q*R% S + T, (95°60 T 5003 Q soBad -

(1) &S50 (2) JOWI$0 (3) esfyaHo 4) TS

(A, B, L, 6) represents that L is the distance (in km) from A to B in the direction 6.
Given that (A, B, 5, East), (B, C, 4, South), (D, E, 8, North), (E, F, 3, West), (F, G, 4, North),

(G, H, 8, West), (C, D, 3, East). ey
i 13

Then, (B, H, L, 0) =
]
(1) (B, H, 83, North) ¢(2) (B, H, 8+/2, South-East)
14

(3) (B, H, 83, South) ,}4) (B, H, 8+/2 , North-West)
o}

A 08 B 86 O3S o tir80 L (8 D)o0d (A, B, 3146) S0-O006. (A, B, 5, 7)), (B, C, 4, 58 £0), (D, E, §
&S80), (E, F, 3, H¢8508), (F, G, 4, &$50), (G, H, 870C0V), (C, D, 3, Sr)) @ RS FDAIB.

LI

@) (B,H, L, 0) = bd

o by

{51‘331
(1 (B,H, 843, &S50) “® (B,H, 842 , &78) 0%0)
3) (B, H, 8+/3, ¢38£0) @) (B, H,8+2, 3ans50)

Five people A, B, C, D and E join for a party. A i i i
:-:f)}::z (:; 213 wife, and D is grandson opr. ’i"hl:nulllt)l;;di:czs I‘E;l;(:;e}(lllst(;i ?;?f}'l t;)E:eBofia :ht:lsz “ﬁn\f: ;)sf gll:
(1) Grandfather {E2) Brother-in-law
nggfgmmA B,C,D &8 §4) orandson
o\ » B, C, AW E e .8 :)*Q&Xn“aaa‘@d). A &S SSB B & E 80D Tawesr e S

2705 8y S0(B8 7S5 wydosd 1 AN $5 g
DS 7S @ONE, D 8o A Oerencyy §)§ SSAT B65aD0 Fek, & oeone 2,85, A G008
3

(1) &
(3) RSB T NI
‘,;,_531) S083¢k

(36 0P
) | r'ﬁéé
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. ent ‘_CL:“‘L ‘

2\ ~m- 3
d by the numbers 26 to 1. By

4 (,(,eSSI y

using the above rule, if
the word ‘CAT"
i el respedlivan, is coded ag 57, then codes of the two words SUSPEg"r’. gnd
(7 11

(1) 86, 82
2) 90, 86 (3) 89,93 (4) 86,86 p o

@0l SIS A
SONI80D ‘CAT ;DO& Z 50O SKOIMT 26 ok 1 HBB e Homed HrHod. » 305%33”}05
BB & SR 57 1 §6 I, SUSPECT 00 ‘OBVIOUS' 87 B0tk S0 5 o

(1) 86,82
(2) 90, 86 (3) 89, 93 (4) 86, 86

107. Replac i ;
place the misfit number in the following series with a suitable number from the options :

1, 6,183, 22, 37, 54, 73
(;) ;5@ @ 7 ry @ 39
1808 FSBS' 205 505 EHFD T y;goé DS DD IFOS DO WONS
1,6, 13, 22, 37, 54,73 W

108. In a code language FORMAT is coded as‘?23456 MATINY is coded as 456789; PRAJ
#35$59 and BRAIN is coded as %3578. ;,5;,
Each vowel in the word AFFJ[RMA’I:ION is replaced by the next letter and keeping the consonants in
the word fixed, then a new word is formed.
Then the code of this new word thus obtained in the given coded language is:

(1) %22834%6#88 - XN IBUIGERY (@) $11#4336548

3) .$11%34$8#$6 g:{"’ (4) %11$34%63#8

M;TINY eSS 456789 Tes; PRAJAY e536 #35$59 T SoBC®

(4) 24
S (HRTDS BOLOk

(4) 24

AY is coded as

a5

285G A, FORMAT T 123456 T°;
BRAIN 03O %3578 M50 a*oﬁaaa&é;) é&:

&S @zﬁa,)éa m‘i)réc",gé'é @808, HBTHS B, TROD KrdIN0T 2.8 159

AFFIRMATION 5505 (D
'az‘:)gé &5 2,5"01&3‘ ey FOOS & |FS D0 méz, &5

(1) %22$34%6#$8 (2) $11#43$68#8

3) $11%34$8#$6 (4) %11$34%6$#8
B , o ’ ‘ ‘
109. If ‘bee pee se€ see means cook good food’; ref( fnep see’ means food is tasty’ and ‘mee nee he®’ means ‘tea

@ g/ d’, then Wh1ch words in that language me
(2) beeree meg,ﬁ
g & =

an ‘cook tasty tea’ ?
we Wet
(1) pee nee mee (3) see ree bee (4) pee ree nee

d’ &, ‘ree ﬁ%e see’ @O food is tasty’ ©Q, ‘mee nee bee’ @O ‘tea is good’

‘bee pee see’ 0 ‘cook good foo
09 ©80 ©oNS & 2y B ©F0 ook taé)ﬁy tea’ @@éoo& ?
bee ree mee See ree bee \})/‘ pee ree nee
/'
gs

E‘éﬁl

(1) p€e nee mee (2)
c oot
Elr 7

1P et Q
s V @,«
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L o2 2% C
e K 0
<« Q ; er than Rajiv. Pr ‘
.. is-second tallest 10 height but youn8 ¢ Raiv i akagh i
110. There is a group of five boys: Kishor are of the same age but Rajiv 1s the tanest

e. Rajiv and Manish i
to Rajiv.

taller than Manish but younger in &
der of their heights, then in Whig,

h and elder
among all five. Nishant is taller than P.rakas w in increasin
If these five boys are made t0 stand in & 0

‘ it tand ?
RN position does the eldest boy § y o 4 poiton
. (1) 24 position (2) 15t posit10D !
Sahn)S TES £y D) SO

DEHS 2rend HSo SO 7 BIT
358 $1DD 83 SIS DS 5‘6‘636& o @égjg g ;)»E? (5°
300 FOTDINBE 0B & o lok0S ©00833) TGS :

g or

(4) 3" position
>BS 880 BOCsS @eb50eh AN
%, O°288S SHBAW A Yy 3
§ £5), A0S 0 SIS, o

¢ TES 535 S0H0)S DPITC. a )
S 7 & she aroog(m >0 % SBTD g0 28 é@‘(}g g 268, D T8 ©di08 3
SO0 o> & deard Gt ? 15
(1) 253780 @ 1530 3) 4':";‘@‘}60 4) 830

&
£

111. Consider the following statements : ‘ . §¥i‘r
(i) N is the grand-daughter of Y and W is the mster-;pﬁ-law of G.

(i) U is the father of E and U has no daughters. “
f the brother of D.

(iii) D has no sisters and B is the daughter o

(iv) Fis the son of H and H is the spouse of I. i
(v) N is the daughter of E and D is the only brother of E.
(vi) H is the mother of G and E is the spouse of G.

How is the father of G related to W ? :
(2) Grandfather (3) Brother-in-law - (4) Father-in-law

(1) Son
|
(808 |DSSaTrend HBKB00R : '!
1) Y % HHs307en N 08050 G 3oy SO (S8 éoéée;a'a’)‘w. Yim” m | ol
(i) E 3B&) S0l U 8050 U 8 §réghy Sh. o % )
(iii) D %o F56nenen B SHBAK D T8, FEHD sﬂmﬁi‘-@ B. o) | 5
(iv) H 330%) $055°80¢ F 8050 T 3Bngy 2eh wﬁa‘)"g:f; H V&Z X ‘\\ » P:\/ %*
(1) EGoé 370N S0 E Gody DEE FOGh Dy o\ . €, 8 N
(vi) G GnEy SO H 590050 G T00&, 2D 206 SH E, { A I A S NS
G 308y S0 W 5 JSF&ehd ? Ae Ny ‘%@C (‘:\.:y f;D
(1) S o .
) 2 =& BR /2S00 @ SRS 13 36@

112. If the second letter ‘E’ and the fourth letter ‘E’ from the left in the word NEgﬁsgﬁY were

S\a‘{‘.)g..‘

interch d if si : powss
interchanged, also if sixth and eight letters and the third and seventh letters were interchanged

then in the newly formed word which of ing
the following’ :
letter which is second to the left of R ? o 4 would be the third letter to the right of the
i ,g.e.aef?ﬁ*cs\‘

a) C @ A
. (3 g0 -

"NECESSARY && H¢& i
©F HB0S IS Wod Bo& ©§ 50 E,s08050 7€) ©830 (B) o 58060 S0

. : A0 DB Kress, DS e H60

1 C 2) A
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113. f;lg’;ie; ‘3 ];’ C, D and E (not necessarily in the same order) aré sitting in 8 TOW opposite 1o
B ol;po,sit:e i’) E ‘thto a;e ?itting _in a row facing North, not necessarily in th‘? same order, ’;“;;
A i amsi '1? t ¢ immediate right of T. P is gecond to the 1eft of S. D18 OPPOsite to P. B
end of the men’s r . Q is opposite to the man who is to the immediate left of D. E is at the et

ow. The persons opposite to C and Q are respectively:

M T,B (2 R,B o (@ 8D 4 AP

STDINPOT 2.8 SHIE S5 DD SEreBS P, @ B S T O B0 & GOt
X (@3 508 SSSB0 BN)

i‘?j AT SBISHS D e, B, C, D HO B €

18, C 80 DT By K2 T & BTt S (83 @00 8 80 A D8 B0l T30S
5y SIE PP % AHSm®NA D. B ebdh § 500 T 0 HOOT S, D & 3% 3063
DBSS), HERDIE DD &), S <§,.*:g>cs§x»o S0 D 98 DEDSO 958 E. @9 C
50805 Q O AEHT ESTE ST

1) T,B (?)/R, B @ S, D 4) AP

in the question. You have to take the three

114. Three statements followed by two conclusions are given
mmonly known facts and

given statements to be true even if they seem to be at variance from co
decide which of the given conclusion(s) logically follow(s) the statements :

Statements : B
No bus is a car. , ij

All cars are scooters. po @

Some scooters are cycles. ;?»g

Conclusions : ! ’

I. Some cycles are definitely cars. ¥ ‘f: N @ >
II. No caris a cycle.w_ h;t ;
Choose the correct answer : .

(1) Only conclusion II follows. E

(2) Only conclusion I follows. © -y

(3) Neither conclusion I nor conclusion II follows.

(4) Both the conclusions I and II follow. _
808 (952 S DSSTeeD, 36 Jows Bodh SHA0HEN BHRFOW. FDIS DSV HTTS,
Frerdeaor SOV Sarsodo rdom 357638, AN (HSSTOD =050 ©HN00T S0A0NHOD

§8%08.

(DaSe3T7eV [

5 xS 5°0 . 2

S @) Sy o

£ Ly OB 208809 %

S0A0)EV «E

I. A 208409 ARl 5. . n

I s e 286 5. (%

DB DIFGFRVL 0% T : =

(1;— Spho 11 ALY @émav@o@,

(2) Ssohod 1 S| €9 00BN0E.

(3) SHA0DD 1 &rB0%w 11 TOGT ©HHB0DY.
605w 11 BOGBY ©DHIOTON.

(4) Swhoen T

(7]

(39) E%‘%
| ', o
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115.

116.

. = 41
e to cause-effect relationship, how are theg, twg 33
th refere?

TWO Statements are given b1 d substantially.
Statements related ? ted flats has decrease

Latement | : of newly constrt® MI) to banks regul
From the last one year, the gales M onthly [nstalments (E arly fr“m
gtatement I : . house loan Equated

ustomers are not paying &
the last few months. L7 l J
Which of the following is cor rec ff;a i -0
(1) Iis the cause and Il s the e Foct. N
(2) II is the cause anf{lf I ;S tl;etlfe same cause- , 4 . oy
(3) 1 and II are the effects 0 : endent caus BBSTO 55 6> HOB0ES ;
(&) Tand Il are the effects ggn‘;fg g (9aFs & DO St
180¢S BOK DT A SRGTOP-
SO0 ? *f;’ —
b B33 S0 SSm AT © ] 5 o
(D3SO : =, BEod) @I 350200500 HATS VO MI) o0,
55 ) Jeenr DA 20e3
27 S0BIOB HOT TOOTIRO Sch.

808 ¢3S’ O HBIB ?
. oo LZ)&T’&'T)?D 11.

(1) 15690 ST OO
o (Herdad I 4
080 DOVORODD DerS.

V. 8,’

@) 15605 II & B0k MDB) FETQ (WeFerS” . _ '

A statement followed by three/arguments is givel below. Identify which of the argument(s) is/ar

strong to support the statement. %EE :

Statement : : o
ofessional courses’{lg’é all

Should ithe admissions to the profess urses
but by the marks obtainéd in qualifying examinatiegf ?

Arguments :’ e o

I~ Yes. It is beneficial to the students who cannot hear the fee for admission tests.

II. Yes. Many students who get good marks in qu%hj_fying examinations are not getting through the
‘of

admission tests. .
III. No. The qualifying examinations conducted @} several Universities or Boards do not have

common standard in conducting exams and evaluation procedures. Hence, it is necessary to hav
a common evaluation of the knowledge of the students aspiring for admission into professiona
courses.
Choose the correct answer :
(1) I, IT and III are strong arguments (2) TandII
: . are strong arguments.
S; gzlg gé lggtggggrgn&nt, s (4) OnlyIlisa strong arg:llmteeﬁt.s
' 3§ ;" ¢ ¢ ol
P T ALy e (8o aé,s?ééb. DO/ FRH(EN) VDY DI 1

awed not through ranks in admission tests

@“)aécﬁréo §

398 s FOIOS (IBFIF 1935 56 2

S50 STFSOIT [DasF°en §©Soé5w§?§®§a U?iﬁ) V0T SHOE, wds HBFOS FGON
Vf

JSSe :
L @5, W34 5850 ber 8500580 darstpess aﬁgﬁ)wam A
b NOQ.

I . @8 HBE e
ety 6o, P00 Sréhpen FoBY Ger wod DgHen ($IBL o edGen T

I 5°C0. AE ST serairey &
[N ZSG 9, Y
28 |rSre3ses Sk, ORI 598 %);% ggg%ﬁg" I8 AS st T, Srersoddd Z)@é&@é‘ )

DOFR) HOFOLNES 2.8 &y, & O37T) 8308) Ve stherds H0208B0D pacd

x;gs ésgwav&); NS ©S085 S0 @900,
53; %ix%@%waiggﬁ%? Tden, @ T8 II ey 23 S
: O edden.

@ 1 Sre$H OIS e3¢5,

(40) : oRe
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tatement followed
117 As wed by three
the statement. assumptions are given below. Identify which o

f them are implicit in

Statement :

Inana
ppointment order from a company the following is mentioned :

“Yi
our appointment in this job will be made kegular after one year, if your performance appraisal by

your supervisor is positive.”
( 7
Assumptions : i
ol

I. The job will not be made permanent béﬁre one year.

II. The suitability of the candidate is not l{r}own at the time of appointment.
II1. Temporary jobs need not require any é@formance appraisal.

Which of the assumptions are implicit in the statement ?

(1) None of the three are implicit

(2) All the three I, II and III are implicit

(3) Only I and II are implicit

(4) Only II and III are implicit %
pu]
. &r
© of |

(80T 28 (DS5ID0, S HTOLT S EATERD B SFO, TS’ D (555506 B GO

s 1
(36523650 - &

Gk PN e

2.8 80D TwE)y NATE S0 1800 P

ngs GESTAZ A TSy NOSFE0 DT SBTS Q

405D BOFE Sr(S ESH2EEB0DES0R.”

3B0EY m"aé’é‘aS ST Q DASI0 HosbyuddorT

EadCD !
£%BOTHO0 BBHCD.

a6sio S 3008 (8
S DOHMOT BBOSTRE 2558 Q@ééém $BSTE OO

52855 SO0 SISO Se.
ol

I.
I &80

[l weOF GBTON
S8 DD (IS0 0B Ss8T B ot
w

8od

1) & HrEoBS D A B 3
@) 1, I1, 1T e S0ri 206G G700 G
3), 3001 60w II S AN &) oW -
(4) Ee>0 IT SO 1T LS 206 G LOP

o) iR
'\

p]
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. hich of the course(s) '
:on is given below. Identify wht faetl()n
118. A statement followed by two courses t():tzt:rtlleont.
to follow to address the issue in the 8
Statement - h compe
Our manufacturers are facing very e 151’ g to
C 1 . § : ntive .
L. Goxsament ahoild v sttrac and to tedube b e tax cuts, to support industriliy,
produetion, to produce qualy FLo, P"liCiegghwhtlg: oroblem ? |
1I. should devise 1 to address
Whi?l?tﬁi?s?(e:)t:f ::tion js/are to be followed 0(2?,,3 Only I to follow i
(&) BothIandIItofollow
‘ 30 DS DOy ey ;

(1) Only II to follow s
(3) None of I and II to follow HETOS DO 99 SO0V, (2

28 [DSII0 3(633%6;)3660% &
DE5(eW) @DHIB0weS HBOTT. .
« &5 ¢39 DT, 0t
ggg“gsos@é Srex woSTE DIBS’ 70 GSIHOD 305605 SO S
e3efen : oo 33800 $05TH8 OO T3 PGB SFFIT ochers s
L o) piyen SHochEsads, TS dlfé D&')o& £ y0wd. )
5255650 el WEITO SOTOTEIC S SrroBom.
L FOFQEIBeH ST S0 §S JOW “’O%FO“’@
D5 DD, STIE IB/ID LB(E0) D @‘53‘9( i ;35»@5 P
(1) II S35 DO e e SR
®) 155605 11 €0 Doty o305 i (éé% I @6?;)05 agi’;i‘éjv‘;iia;? the conclusion(
A statement followed by three conclusions ara&sgwen s 3

follow(s) from the statement. b
g:faQtfzrgeazfe. three women and L, M, N are the husB.faj,nds of P, Q,-R not ne.cessarily in the same order.
Three persons X, Y, Z, each made two statements%igut of these two, one is false and one is true.

X : Pis not the wife of M. R is not the wife of L. &/
Y : Pis not the wife of N. Q is the wife of M.

Z : Q is the wife of N. R is not the wife of N,
Conclusions : '

I. Ris the wife of L.
ITI. Q is the wife of M.
Which of the following is true ?
(1) I, II, III only follow (Z_L, L I1, IV only follow
(3) Only I follows - (4)] AL II, IIL, IV follow
28 (DIVV0 BHToOT Srch SwhoHen AP oW, ADYS (DSBS Hod 9 Aoy

ODIET B> o008, M

Lod

tition to sell their products in international Marke
io .

rers in lowering |
the manufactu Ostg "

119.

?/v II. Qs not the wife of N.
IV. Pis not the wife of L.

(3a523:50 - o2
9, b
ot S DI EONL M N e 70 5600 (i 8906 5580660 B
SP X, Y, Z e 258 v

S ©5850 4546 Boch Ldétﬁ«?ﬁ» DT HOK & BoBoBS' 2,563 Debgo ool
X: M 3308} o785 P 5°¢%. L O08). 2785 R 578 i ‘

Y: N O3w&) or8s P 5. M By, ay(ji Q. ' e
Z: NOIog) e85 Q. N &Bwd), 2755 R s,

AwAoYen :
L LG8 oardsR.
IIL. M G308} 5755 Q. gz N 3308 33855 Q sk,
(808 T8S° 96 a0 2 - L O3%) ards P sy,
@ LI, IIT & SH&3H e0s06:r oy,
@ LILIVe» 3me3 o089 0

3) I IS 88008
@ LI,10 v O) OB o
N &

P o
a - 2
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0. The following bar di

12 sty o totalgofagogt)aisane Silows the number of boys in each of the gix schools A, B, C,D, E and F

of students in each of th nts, and the pie chart given below gives the percentage wise distribution
ese six schools out of a total of 6000 students.

1200}
11004 ]
g 10007
900 +
! ]
5 700+
£ o
Z 5001
1 4001
300+
200 + % i
0 B I—-] §‘.Li.\‘:
A B C D E F I
——> Schools W ) . )
Observe the above diagrams carefully &nid match the .toms of List I with the item? of List I1 :
List I g R List I1
A. The difference between the number of boys and the number of girls in the School C is 1. 1340
B. The number of boys in School B is Jess'than the number of students in School E_by 1. 380
C. The difference between the number of gitls in school D and the number of boys 1D i 40
school F is o
D. The difference between the number of girls in school F and the number of girls in Iv. 60
school A is -
V. 240
Choose the correct answer :
(1) A-IL; B, C-IV; D7 .. @ AI;BY; CIV; DI
(3) AV: BT, C-IIL; DIV [l (4 AWV BL CIL DI
58050 Fod Znso JorsPeD 6000 © 2rend Somse 806 a0
keSS T SHO DOPFOD TS0 TOT

s >ETOBS A, B, C, D, E

DSO SFYH0B, HBA S0 6000 Q@g@oé‘ & s

G :
8o& ' (pie) )50 )0 ot
12007 .
T i,
11001 o
e
" 1333.. q—fo “{? L
g a0 EHS s
o 700 T8
8 sl
3w..
2001
100 D 4 (00
2 AETOD w@?gg%’@oa, e 1 eS‘&)g»eS:() e [ S S, 238 WO :
U el 1,',";’?/ D11
A adwe C S rend S0P 3OS ORI IO yeo: =5 - L 189
B, 7o BSD e DODS: o7 SO NrsH© Hos SOV ST W 1L 380
) V. Aj A ) v |
. g%aa?fo b 5% r DO DB >EFOF S 2rend O (i B0 | TIL 40
' o P L) S0 ar®de Hopgd o B0 | IV. 60
D. é7Te FSwdsO Somsdo, FBTO A § :
V. 240
3@?&%&9@_@;@@: @7 AL B-Y; C-IV; DI
5 A:V; B_I; C_IH; DIV \(})/ A-V; B-I; C-II; D-III 3
W’/ EIE i'%?.
[, o

(43)
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ars (in thousands of units) by a car-ma]'nng company Aj
on below shows the ratio of production of cars to saleg

eof c
d table carefully and answer the question,

table giv
the graph an

ows the sal
23 and the
3. Study

121. The graph given below sh
the years 2020 through 20
in the years 2020 through 202

18 r
15
g 12+
? Sp—
| [
€1 5
M
3t {3
1 1 e —> i:%
2020 2021 2022 2023 o
Year &/
«.'r 1
Year | Production : Sales (t:l
. S
2020 3:2 d
2021 4:3
2022 7:6
2023 5:3
If the average production in these four years is x ar{g“ the average sales in these four years is y, then
X:yis: -
(D'19: 14 @ 9:7 3) 65 (4) 20:15

2020 oG 2028 HoSSYTOS 2.8 T8 SAFrE §o=eo‘$”‘éfa 2623 58 @5 (Fo) dSTrodD (808
B (50 Y0 SHBOSH 2020 Ho& 2023 K)o&ﬁé:j@eé‘ &3 50D 5°0 &HBE HOSW 9 IOZ Ky
AAIHOD (80d HEE SenHeHod. (Y, éo@oiw’:{;%@éc& ST Psahdo T (8od DA%
DIFETINS 08, oF

v

]

15 1

3 12t -
b,

3 9

9

6 ] iy

: L

: ’ . gy

2020 2021 2022 2055 > {»}

Q0S¢ y80 2*?

| doses g

0S50 &ég@;@@gs‘,@ o

-

: ©

5 "
&2 7Y N0IS Y oreeS b0 58 = .
R0, ©D Y 1y 50 Sfen cres ) x HBOK &8 T H0NBITOS” BODS @ 5ves S y
(19114 @ 9:7 3) 6:5 @ 20:15 |
P ' .
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122. In which of the following years does 29th February fall on a Sa pirday ?

1) 2036 y

80ATVS’ D HONSIBOS DI2SO 205 B $JarS0 HNOO ?

(1) 2036 (2) 2044 i‘(}g) 2052 (4) 2048

min, and the hands of the clock coincide

123. 47-5° is the angle between the hands of a clo@iﬁjﬁat 3hrs k
4z
(‘B’”)

with each other at 3 hrs / min.

Ifk>[,thenk+![=
4
- 1 @) 41—
(1) 45— o 5_,. .
= @ 245 %) 2 i1

55090 3 H0. k D, SANSHE 28 KAATESD Dodk Sw¥) $0558e0 475°. 3 60 1 D, 90N 23

KBASTE5) Btk Sy 28RS HBES &I ow. k> ewond, k+1= )
2 1 7 412
1) 45— = 5 @
D) 457 @ 24 @ 2557 T
(“"1

124. A student found the 1357 day from 1% Maiv“eh 1998 as Friday. Then the immediate date after

15t March, 1998 which falls on Thursday is : &%
+9) 374 March, 1998

(1) 2°d March, 1998
g§”€;4) 5th March, 1998

(3) 4t March, 1998

o J
3r8) 1, 1998 B8 oA 1357 S B 2.8 s HET GO HBOTD. D) 8 1, 1998 36 So°sd

3(6330&3 33 S0 BBy 88:
T (@) S¢8)38,1998

(1) 82,1998
(8) S8)4,1998 (4) &r8)5,1998

utes for every 12 hours. The watch is set to the right time at 11 a.m. on Monday.

125. A watch loses 2 min
the faulty watch shows the time :

At the time 11 p.m. on the immediate coming F;‘nday,

(1) 10:42 a.m. on Saturday ,.SZ) 10:42 a.m. on Friday

(3) 11:18 a.m. on Saturday (4) 10:42 p.m. on Friday

2,& $A0STE0 (D& 12 Ko&OE 2 ATV éwz,én‘ Sre08. & BAAFTR) IO &0%0 11
KOsyl HBS DHOHOZ HOTRO. FHTE0" e’ééoa"é Sood 3T) HEFo T To@ 11 foteo

DXHATS, € S KBOSTE0 T HDHOHO
1) 360 . 10:42 2) HESO0 . 10:42
@ HEFE0 oV, 10:42

oo
(45) %}&

(3) $Qa80 G. 11:18
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. ing options representg thig
126. Ifg ded to form a cube, which of the following e
. e following figure is folded t

| i f
.
o fnd

!

3

-t

7z }
R, 80 RITOS DA & DT, LY S0E ?
- ool

808 He3008 SHED 2, S0 ST

[T )

127. A and B are parents of C and A is elder than @ The father A’s age is not more than 4 timeg that of

(1) 7 years (2) 10 years ;‘:(;3) 15 years (4) 19 years
¥

A D835 B e ¢ O30, $OSochen 5By Béﬁoﬁo A 8085 50580 ). S0(& A Tk QWA

QB0 S0 )% 0P B E0) D5 5% 8w O B OVVIFX 20D C WIS NIOWEEE: [SARIN

S50).85 5°¢%. C QB08y SA 7 Q0a3¢8 yorery 380 &0 DBAw 10 Q038 yorerEy BNEVINE S oln

GO0 A 56K B e 0G5 IBS K63 $Te 3o

(D) 7 3056 yomey 2) 10 Q0S¢ yorey 3) 15 Q0S¢ yorex 4) 19 Q0S¢ yoren

128. There are 216 cubes each of side 1 unit, Exc pj 3 adjacent faces, all other 3 faces of each cube are |
painted with red colour. Thege cubes are joine Logether to form a big cube of side 6 units such thata |
border of 1 unit width around each face has tg" with no red colour. All the other parts of each face |
should be in red coloyr. Then the numpey of elibes that are not 5 Part of the border of each of the
faces is : (3%

(1) 180 2) 176 HH8) 124 4) 160

3636&68 gé’é “OROD D 1 Giurdes aade O SOMBY Do wsoeyeszims 155 Sod
Qe o> O A3 Soths’ GO, @3y ¢ BR), Swgre) @ohesst IO Sares Hogs
(1) 180 . @ 176 @) 124 @) 160

[7] J o
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129. Which of the following sent

ences |
A. Mr. Atanu’s computer, 4 as/havye g

S well ubject in agreement with verb ?

B. Many of us make N as its
ew ) programs, are )
C. Evorybody talk about tgs a\l:;es resolutidng, but fe’gi,})‘lﬁ (;(i:el;t‘them.
D. Neither Bheem nor hig frien(‘;l t}}xler’ but nobody does anything about it.
Choose the correct answer . S helps t!}q“ villagers when they were in trouble.

(1) C only (2) A and . x’p
; ;f

; (3) Bonl (4) Aand B
130. Which of the following senten y

1. Which i
13 of the following sentences has an incorrect passive form/voice ?

g; z%hll succes.sful candidates will be notified by post.
o Aueﬂl:leetmg was attended by salesmen from all the regions.
e bananas have eaten by the monkeys.

(4) I want to know how these substances are absorbed by the body.

132. Choose the correct alternative that transfofms the following sentence into reported speech.

“We won’t eat it now, but we may have it for lunch tomorrow,” said Sudesh.
Sudesh said that 6.0

(1) they wouldn’t eat it now, but they mighhave it for lunch the following day.
(2) they wouldn’t eat it then, but they majhave it for lunch the next day.

(3) they wouldn’t eat it then, but they might have it for lunch the next day.

(4) they wouldn’t eat it then, but they -ma;ﬁ}have it for lunch tomorrow.

133. Identify the correct mapping of the underi»%;{??}ed word in the following sentences with its antonym.
A. The verbose explanation given by the lawyer was quite difficult to be I. Fallible
understood by a lay-person.

B. Their method of functioning was extremely impeccable. : II. Self-centred
C. This city’s pollution problem was alleviated by the sudden shower. III. Unpoised
D. The CEO of the company was an even-tempered person. IV. Succinct

E. The child’s altruistic act surprised all. V. Intensified

Ciloose the correct answer :
(1) A-IIL; B-IV; C-II; D-V; E-I ;”g
(3) A-IL; B-I; C-IV; D-V; E-III )

[oi

(2r A-1V; B-I; C-V; D-IIL; E-II
(4) A-IV; B-III; C-I; D-II; E-V

134. Which of the following sentences is/are grammatically correct with reference to tense ?
A. If you were an avid reader, you will taj§ special interest in this project.
B. If he is a voracious reader of historicakzovels, he will read a lot of them eagerly and quickly.
C. Hadhehada prodigious memory, he agn have impressed everyone.
D. If she works hard, she will enjoy the frifjts later.

Choose the correct answer : ®)
(1) Band C @ AandC ™ (3 BandD 4) AandD
185. Fill in the blanks with suitable form of the verb from the options given below.
“The girl coins from her piggy bank for quite some time before she __ of buying a
toy for herself.
Choose the correct answer :
(¥f had been counting, thought (2) had counted, had thought
(3) counted, has thought (4) has counted, had thought

(47) E‘%%

P [E]pal
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plete the disengagement, Procey, ;
to maintain regular conta
~

: atic talks to com
136. India and China held another round of dlp}:::kthrough’ B
Eastern Ladakh and in the A _ OfI: I;):ier peace. '
diplomatic and military channels D _ 10 ks A, B,CandD respectively :
. 1 n ? ’
Choose the correct option to fill in the bla (2) presence, allowed, i 01;1 for
(1) dearth, accepted, from, at (4) absence, agreed, through,

] ithin, from transactj .
) Jgels permithod, within, orted either attempted or successful _A ) ctiong with,
187. Several X Bank customers have rep f arsi ']fhe Bank said that the transactions _C ¢, be
. . ew ye
lgﬁqmatmn; 1 r;ircl];ant; _%tt}l::ria::as no D ,of any breach and as the frauds were undertake,,
G attack”. The Bank sai
. X rable.
with basic card information, the debited amounts Zi}ere ze]cs)::spectively :
Choose the correct option to fill in the blanks A»(];;;: lzrglitimate at, watched, combination
d, indication Y 1 . ot
E&l’; ﬁ'.?uiqemlt, olzeg, :Eiexzfxenication (477 violent, through, viewed, nomln?tlon
silent, in, looked, I in aragraph.
Choose the correct mapping of the following Jumbl d sentences to make a meaningful paragrap

138. A. As an undergraduate Kamen developed the ﬁ‘i‘s{ pump that would give regular doses of medicine

to patients. o e -
B Hep flies to work by helicopter, which he also uses for visiting his island off the coast of

Connecticut. .o . ;
C. The patent for this and other medical inventions has produced a huge income, allowing him t,

run his own research company which, among many other projects, has produced the iBot, the
world’s first wheelchair which can climb stairs. : 7

D. Dean Kamen is a 50-year-old American eccentric who is also a multi-millionaire. !

E. He always wears blue denim shirts and Jeans, even when visiting his friend, the President, in the

>,

White House. . ";",
Choose the correct answer : t;% , |
(1) D,E, A, B, C (2) D, A, B, C,E (3‘% D, B, A, C,E | (42, D,E,B, A, C

139. Choose the correct order of jumbled sentences, ahich are marked P, Q, R, S, T from the options
given below to make it a meaningful paragraph. ??ntence No. S1 and No. S7 are given to you as the
introductory and concluding sentences of the par?gfaph. g

S1. We need to learn from nature,

When you don’t know your limitations, you go out and surprise yourself.
But the bumblebee doesn’t know that and it keeps flying.

The only limitations a person has are those that are self-imposed.

In hindsight, you wonder if you had any limitations to begin with.

A;;:oxt;;iifr;g to scientists, the bumblebee’s body is too heavy and its wingspan too small for it to be
able to fly. '

S7. Don't let education put limitationg on you. r “}
Choose the correct answer : LW

Wl @ TQRSP g Rqrpg @ P,5,T,QR
140. Fill in the blanks in the following sentenceg with gyitable words from the options given below.

I usually spent three ¢, four nights »
numbers, plotting graphs, Writii frofft-home, and then worked every weekend ____—

H®n o

and a physica] low, g Presentatmns.{f was __ all the time; it was an intellectual
(1) along, crunched learnt, h; h Wy
5 » l1gnher ( 3 awa ’ crunch. . .
(3) away, have crunched, learnt, higher (ﬁﬁ? o }i’as cruuci:lgd’ lleamlng., high
? €d, learn, highest

P @47
= | (48) E&
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ill in the blanks wi i ]
fiill. i with articles in the following sentence. Choose the correct alternative from the

options given below.

q went to ______ pri
1 prison ______ lot when I wag ______ student of social work at

Manchester University.’

(1) a, no article is required, no article is required, the
(2) the, a, the, the

(3; the, a, a, no article is required

(4) No article is required, a, a, the

Which of the following sentences have incorréci iti

0 f sitions ?

A. Iordered for ten books. rréct MERBREE

B. A nat%onal leader should communicate to }ii;s,people effectively in the meeting.

C. My friends after their tour will return in thljé, month.

D. They agreed with the project but disagreedzgz%gith us.

Choose the answer : 3

(1) A,Cand D (2) AandD {%3. B,CandD (4) CandD

Choose the correct sequence of prepositions t%:;’ioe filled in the blanks
make them meaningful.

A. Could you hand these cookies

B. Since she had broken the rules of the ¢
C. Please hand your passport at the office, it will be returned to you later.
D. The papers are signed by an official before :
(1) on, in, back, around

(3) in, on, around, back

with tea to the people in this meeting ?

",

&(9) around, back, in, on
"’1»‘(?:4) back, on, in, around
Fill in the blanks with suitable form of words fftm the options given below.
Next to him in came a vendor of fried éi:fbundnuts,
and people to him. A portion of this

(1) vociferousness, flocked, considerate, was déilied

(2) vociferous, flocking, considerable, dallying

(3) vociferousness, flocked, considerable, dallied

(4) vocifer, flocked, considerability, dallied

before the astrologer too.

The following three sentences' have an un
options that is a synonym of all the three underlined words.

A. The public seems to have an insatiable apf)gﬁite for celebrity news.

B. Rajhashad enough of his sister’s mateﬁab,;g%ic requirements.

C. A dragonfly and its larva are both voracioﬁs’:eaters of their fellow creatures.

(1) greedy (2) gracious :{3) hungry (4) grasping

Choose the correct alternative to fill in the bla;i{s in the following sentences.

‘Could you pass me piece of cloth ? Igvzg spilt some milk on floor.’
@ a, the .

(2) No article is required, the

(3) the, the

d, No article is required

(4) No article is require

(49)

in the following sentences to

ontest, Susheela had to hand the prize.

ibg'ing handed to the next department.

who gave his ware a fancy name each day,

derlined word each. Identify the word from the given

i
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147. Five sentences are given which are marked P, Q, R, S and T, Identify the correct sequence of the 1

following jumbled sentences to form a meaningful paragraph,

P. As with any type of service we intend to hire or outsource (IT
commonly understood that we will be confronted with a marke
providers of varying quality and reliability.

Q. Others yet may simply be insincere or temporary business v
or are acquired within a short period of time.

R. Some may offer attractive rates and terms, but may have up
proprietary environments.

S. Cloud computing is, at its essence, a form of service Provisioning.

T. Others may have a solid business backgroigpd, but ma

-related or otherwise), it is
tplace comprised of service |

entures that unexpectedly disappear

proven husiness histories or highly

y demand higher rates and less flexible

terms. b
Choose the correct answer : G-
(1) S,P,Q,R, T @ PRT.QS {3 SPRTqQ 4) R,Q,S,P,T
: of)
148. Read the following passage carefully and choosgithe appropriate adjectives from the given choices to
fill in the blanks, 41
One of the not so _______ debates in modern society is ‘whether I create my destiny or my destiny

creates me’. Many people believe that life méves accordin:
regulated, governed, and controlled by some
course of life.

gtoa___ plan as all of us are
Power and authority that guides our

(1) modern; entire; pre-programmed; higher
(2tutile; pre-ordained; supreme; entire
(3) modern; pre-programmed; pre-ordained; le;sa

(4) careful; futile; higher; supreme ;;,1
w{e«f
149. Read the following sentences carefully and ideyifify the sentence(s) that has/have incorrect use i

adverh(s). ke
A. John works very hard, seven days a week. 2?;
B. Tom drove careful along the narrow road. @)
C. Sita spoke extremely well.

D. We didn’t go out because it was raining heavily.
Choose the answer :

(1) Bonly (2 AandB (3) Donly (4) CandD
150. Match the type of conjunction with the sentence in which it is used and identify the correct mapping.
Conjunction Sentence h::
A. Addition L Var,ious writers have:gxamined the issue, f:or instance, Van Exel (2000).
B. Result II.  Although the conceptlis easy, it was difficult to answer the question.
C. Reason L. Furthermore, child I;ertality rates must be examined.
D. Example IV. Prices are rising wo{l;;éwide, thus encouraging investment.
E. Opposition V.

Owing to the strike, today’s classes are cancelled.
Choose the correct answer

(1) A-IL; B-ITT; C-I; D-IV; E-v

(2) A-IV; B-V; C-II; D-IIL; E-I
(3) A-V; B-IV; C-IIT; DII; B

4y A-IIT; B-IV; C-V; D-I; E-II

. EE
P | (50) | .’5‘;&&
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